
Business



GCSEBusiness
Year 9

Business Activity

Yc?f edrfif



The nature of business activity - 1

Business enterprise - 34

Business ownership - 60

Business growth - 84

Business location and site - 100

Acknowledgements - 113



GCSE Business . Business

Businesses have to compete in a competitive environment. This means that they are not the only
business providing a particular good or service (product). Consumers usually have a choice on
what they spend their money on, for example if you wanted to buy a new mobile phone you
would have a number of different models made by different manufacturers to choose from.
Normal consumer behaviour predicts that if the product is identical or very similar you will choose
the cheapest.

However, consumers are normally prepared to pay a higher price if they think that the quality of
the product is higher, or if the product has a unique selling point (USP) that makes the product
stand out from the rest. When choosing your mobile phone, if the price is not a concern then you
will consider the functions and features of the phone and also which one will impress your
friends!

Products are sold to consumers in markets. ln early societies there was only one kind of
market where producers and traders would go from town to town to sell their products. Today
these physical markets still exist, but there are many other places where consumers can buy
their products - market stalls, shops, online, catalogues, etc.

A market is any place that brings buyers and sellers together so that an exchange of
goods or services can take place.

The term 'market' is also used to categorise different types of products and there is a market for
every product or service. For example there is a market for cars, insurance, holidays, take- away
food, private health care, Valentine's Day and so on.

Different markets will have different levels of competitiveness. The more sellers in the market the
more competitive it is likely to be. Some markels are dominated by very few and large businesses,
so these are considered lo have reduced competition.

The nature of business
The competitive business environment
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Competitors

Cars

Mobile phones

Banks

Successful businesses are the ones that meet the needs of consumers better than their
competitors. A business can make its products more appealing by the following factors:

. Cheaper prices

. Better design
'Betterquality. Advertising
. Promotional activities
. Make it available to buy in more places
. Attractive packaging

Having a strong brand identity - making it more recognisable and stand out from the
competition.

lf a business fails to recognise the competitiveness in the market it competes in it is likely to
struggle and gain the sales in order to create enough revenue to be successful. However, if a
business is able to successfully compete in the market it is likely to create a good level of
revenue and be successful.
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1. Complete the table below:

lnternet provider 
E11. C

2. Consider the competitiveness in the following markets:

. Cola drinks
' Supermarkets
. Taxis
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Explain what is likely to happen in the following scenarios:

Greg Oavies owns a small chain of pizza parlours, his prices are slightly higher than his main
competitors, however, he has a unique recipe that has won him awards from the food industry.

Ace Plc manufactures and sells televisions. lt is a well-established business that sells its
televisions through a well-known high street retailer. They have decided not to create a
website and continue to sell through this one retailer.

Prime cinemas are a new business and have opened 20 cinemas around the UK. lts tickets for
adults and children are 10% higher than the average market prices.

1. Foreachofthe products listed below explain why they are successful in their relevant
markets:

l.OREAL
BIfR,BERRY

2 What is meant by a competitive market?

3 Why is competition in business good forconsumers?

4 Summarise the factors that helps businesses to remain competitive.

3
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The business world does not stand still, business activity is constantly changing, in other words, it
is dynamic. Businesses have to respond to these changes to remain competitive. The business
world can change in many different ways; a successful business must recognise these changes
and make sure they are not left behind. To remain profitable a business cannot just stand still,
what made the business successful yesterday will not automatically make the business
successful tomorrow. The rapid groMh in selling online via the internet
(e-commerce) and more recently through wireless handheld devices, such as smart phones and
tablets, (m-commerce) has drastically changed the way in which businesses can communicate
and sell to their customers.

The following products are good examples of how the market they are sold in is constantly
changing and how businesses have to adapt their products to remain successful:

. Cars
Ready meals
Clothes
Music playing devices
Supermarkets

Choose two of above markets. Use the intemet to search for images and make a pictorial
diagram of how these products have changed in the last 50 years. Use a timeline and place
the images in the conect time.

It is often said that the pace of change is increasing, does your diagram show this? How'?

For one of your chosen products explain the main reasons why the product has
changed.

Consumers needs and wants are not static, their tastes, preferences, attitudes, demands and
expectations are constantly changing. ln addition, new production techniques, new
technology, new compelitors and new markets presenl businesses with opportunities (as well as
threats) to succeed in a competitive environment.

Consider a business environment that did not change; consumers would be content with their
products and would not create demand for new products as they would be happy with what they
have already got. How would this affect business profitability? There would be no pressure on
businesses to improve their products or look at introducing new producls or new cheaper ways
of producing the products. Technological developments would be much slower, or even not take
place. A dynamic environment is needed to improve products and production processes in order
to continually satisfy consumers' demand for better products which allows business to seek
further ways of making higher levels of profit.

The dynamic business environment should be seen by most businesses as an
opportunity and not a threat.

ln addition to adapting the actual product, businesses can also respond to change by

adapting the way in which they carry out their business activity, for example;

4
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. Production methods can change

. The use of differenl materials and suppliers

. Using dif{erent promotional aclivities

. Changing how they distribute their products

. Changing the location oftheirbusiness

. The way in which they communicate with theircustomers. Selling the same products in different markets

. Changing recruiiment and employment practices

Change is not always imposed on a business, some businesses create the change lhemselves.

These businesses are proactive and may spend a great deal of money on research and
development in order to bring a brand new product to the market, or drastically change an
existing product.

1.

2

}IETFLIX UBER
How have they initiated change?

Why have they been successful?

What does this mean for their competitors?

The dynamic business environmenl is affected by changes in:

Economic factors - such as changing levels of consumer income, unemployment, interest
rates and the price of importanl resources such as oil and steel.

Technological faciors - such as new inventions, use of robotics, the expansion of
information and communications technology and reduced cost of technology.

Society factors - such as demographic, social and cultural changes, new tastes and fashions.

Market factors - such as new competilors, change in strategy of existing competitors and new
markets (the global market).

Environmental factors - such as needing to source alternalive materials, reducing pollution in
the manufacturing of products and using renewable energy.

Political factors - such as new regulation on business activity and change in political policy.

The dynamic environment can lead to uncertainty. lt is very difficult to predict what will

5
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happen in the future, especially when the pace of change is so rapid and unpredictable. However,
a business must not stand still, if it does it is likely to fail. A business has no control over these
factors, it is important that the owners or management of any business are aware of these factors
and what affect they may have on their activities. lf they do so, they are able to adapt their
products and or practices in order to remain competitive.

6

1.

2

What is meant by a dynamic environmenl?

How do businesses respond to a changing environment?

Explain why a dynamic environment is an opportunity?
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A business gets started when somebody decides that they can earn a profit by making a
particular good or providing a service and selling it to people who are willing to pay for it. We all
need to buy goods and services to live so we depend on other people to provide them, we are
willing to pay for these if we feel that they are satisfying a need or want.

The desire to make a profit is often the reason why a business person will take a risk investing
money into a business idea.

What is meant by profit?

Explain why profit is often the main reason for someone wishing to sta( theirown
business.

A business person is always looking out for chances to provide the goods and services we need
and want. A need is something we cannot do without and includes food, water, shelter, clothes
and warmth.

Complete the table below. For each need give two examples of businesses that make a
prDfit from supplying the goods or services:

'1.

Food

Water

Clothes

Shelter

Warmth

However, there are some things that we do not really need but which are pleasant to have. No
one really needs a mobile phone, it is possibie to live without one, but communicating with our
friends is much easier if we have one. Most people like to have a TV, car, a summer holiday,
make-up, comfortable sofa, etc., you could live without these, but most people want

identification and response to business

7
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them. There are plenty more examples of our wants and a business person will provide these
if they think they can make a profit from selling them.

ln a dynamic environment, with ever-increasing wants, businesses are always on the lookout for
opportunities to make a profit, often a business will attempt to encourage these wants through
advertising campaigns and careful pricing strategies to make people want to buy them.

ldentifying a new opportunity is not easy, many new businesses will fail with what they
thought was a good idea, but was not a commercial success. lt is important to carry out
thorough research and work out the total costs of starting and running the business.

lmportant questions that need answering when identifying and responding to a business
opportunity include:

. Who are the potential customers?

. What makes my producuservice different?

. What will attract customers to my product?

. How will it be made?

. How much will it cost to make it?

. What other costs have to be paid?

. How many will I have to sell to make a profit?

. Where will it be sold?

. How will it be advertised?

. Do I have the experience and skills to make the business asuccess?

B

Watch an episode of'Dragons Den'.

For one of the pitches:

. Summarise the business idea.

. Make a list of the questions the Dragons asked about the idea.. For each Dragon that did not invest explain theirdecision.

. For each Dragon that did invest explain theirdecision.

. What did you think about the idea?

I
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Business activity takes place at local, national and global levels. The scale at which a business
operates will affect the way in which it carries out its activities and the profit it makes.

A business that operates al a local level is often small, limited in size, the number of people it
employs and the revenue it creates. (Revenue is different from prorit. Revenue is the number of
sales made multiplied by the price charged to customers. Profit is revenue minus the costs.)

A small scale business is often owned and run by the same peEon and may employ a small
number of workers. The business activity is based in a local area focusing on customers who
live, or visit, the area.

Characteristics of local and small scale businesses include:

Ownership - small number of owners, usually one person, the ownership structure is simple with
clear communication.

Finance - relatively low amounts of money invested in the business (low start-up costs),
generates lower amounts of revenue with lower costs than larger businesses. Low levels of
money are available for marketing activities, technological improvements and business
growth.

Market - a much smaller market than larger businesses, often serving local communities.
However, many small businesses sell to customers across the world through the internet.
Because of the low quantity they sell and the other characteristics present, these businesses are
still considered to be small scale.

Locations - usually focusing on a single area, many are run from home and do not have
multiple outlets.

Production - small scale, making small numbers.

Employees - usually very few, owners will often staff the business themselves and may
employ workers at busy times.

Flexible - owners have to be willing to do what it takes to be successful, they will often have to
be prepared to change the way they do things in order to react to challenging situations.

Community based - attract loyal customers who see the business as a vital part of the local
community.

Technology - the groMh of social media and blogs have been utilised by many small
businesses due to its effectiveness and low cost.

Scale of business

I
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Typical examples of local scale businesses include service or retail outlets such as local
newsagents, convenience stores. butchers, florists, garages, pubs, restaurants and fast food
outlets, taxis, plumbers, electricians and hairdressers. Small scale manufacturing and
farming also exist as do professional services such as lawyers, accountants, dentists and vets.
lnternet-related businesses such as web design and computer services and programming can also
be small scale.

Local scale businesses vary a great deal in their size; some will be owned and run by one
person from home, whilst others may be a small company employing 20 - 40 people from a
factory.

From the list in the table below select one business idea you would like to start when you
leave school/college. You may need to carry out some research on the ideas to Iind out what
is involved.

When you have selected one consider:

. The start-up costs

. Experience needed

. Level of risldreward

. Regulation

. Likely success

. Owner satisfaction

lnterior decorator Window cleaning

Personal trainer Bed and breakfast

Accountant

Website developer

Christmas tree sales

Dog walking

Computer repair

Massage therapist

Photographer

Wedding planner

A national business will operate all over one country. li may have multiple factories or retail
outlets throughout the country and a distribution network to make sure it can distribute its
products to where they are being sold. A national business will offer the same products or
services. usually at the same prices, to customers all around the country or over a large area of
the country.

10
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Compared to a local business, a national business will have more resources to use in
carrying out its activities, including grealer amounts of capital (money available to invest in
the business), more and different types of employees with a wider range of skills.
This extra capital can be spent on more technical and efficient production processes, superior
marketing activities, such as nationalTV adverling campaigns and aftractive sales promotions,
employing highly skilled workers and efficient support systems such as lT, legal services and
transport.

The ownership of national businesses is more complicated than a local business, often having
multiple owners and a separate management structure.

The market size of a national business is much greater than a local business so there is a great
opportunity to attract a greater number of customers to obtain a high level of sales. The population
of the UK is 65 million, for a national business these are all potentialcustomers.
When this total population is divided into cities, towns and districts it is clear to see the
benefits of operating on a national scale.

London

ham

Leeds

Glasgow

Sheffield

Bradford

Liverpool

Edinburgh

l\.4anchester

Bristol

Kirklees

Fife

North Lanarkshire

Wakefield

Cardiff

Dudley

East Riding

South Lanarkshire

Coventry

Belfast

Leicester

Sunderland

7 074 265
1 020 589

726 939
616 430

530 375

483 422
467 995

448 850

430 818

399 633

3BB 807

349 300

329179
325 940

317 342
315 040

312194
309 786

308 689

307 450

306 503

297 300

294 830

294 261

11

Cities, to\,vns & districts Population 2016

Sandwell 292 196



Doncaster 291 AO4

Stockport 291 080

Sefton 289 739
Nottingham 283 969

Newcastle-upon-Tyne 282 334
Kingston-upon-Hull 266 775

Bolton 265 449

Walsall 262 593

GCSE Business . Business

These population figures can be divided further for some small scale businesses that will
only attract customers in the immediate local area.

For example if a house owner in London was looking to employ a plumber to fix a leaking pipe,
or a family from Wigan wanted to visit a local restaurant for a meal, they would generally look for
a business within a few miles of where they lived. Would a plumber travel across from south
London to north London for the job?

It is easy to recognise the businesses that operate at a nat onal level. They are well-known
businesses that can be seen as you travel throughout the UK and tend to advertise on national
TV, on billboards, in magazines and nat onal newspapers. lf suitable, they also tend to have
highly deve oped websites which allow for online purchases with quick deiivery times

The table below lists some well-known national businesses in the UK. Use the internet to
find out the information and complete the table

Business Market(s) Sales Revenue Profit Number of
Employees

DFS

National Express

John Lewis

Taylor Wimpey

Direct Line

BT Group

12



Number of Stores in the UK

Supermarkets, like most other national retail stores, will have a consistent approach to all its
outlets, many will look exactly the same, sell mostly the same products at the same
prices. Buying a packet of crisps or a bottle of tomato sauce will be the same price in Bristol,
NoMich, Manchester or Cardiff, and most likely be positioned in the same aisles next to the
same alternative products. This consistent approach helps a national business create a
familiarity with all its customers no matter what part of the UK they live.

The rise of the large supermarket chains has resulted in the decline in independent small scale
retailers. Over the last 10 years the number of local retailers has fallen by a half, from 35 000 to
18 500.

13
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Supermarket

Tesco

$ s"in.urry'"
6

1 304

lvlorrisons
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A global business will operate internationally and throughout the world. This includes
businesses trading with customers in one or two countries and businesses that trade with
many countries across the world. The factors of trading at a global scale include:

. A much bigger market. The UK population is 65 million; the world population is over 7
billion. The population of Europe is over 740 million; the population of the USA is over 320
million. The potential to sell products to more people across the globe is an obvious
attraction to businesses who wish to increase theirsales.

. Manufacturing or sourcing products from different countries at lower costs. Some
UK businesses may not have the necessary raw materials to produce in the UK or other
countries may be able to produce some goods and services more efficiently than we can.

. lmproved communications. The world is now a smaller place, the use of the internet
makes it possible to trade efficiently across the globe. Service industries such as
insurance services and customer help centres have made use of these developments.
lmproved transportation systems have also led to cost effective transpo(ation of materials
and products across large distances.

. Global brands. These are products and services that are recognised throughout the world.
The same products (maybe with some slight changes for different countries) are sold in
numerous countries are easily identified by customers. Coca Cola, Apple and lkea are
examples of global brands.

. Complicated ownership and management structure. Many global businesses or
brands will be owned by a parent company who in turn willown other businesses. An
example is when Facebook (the parent company) bought lnstagram (the subsidiary).
Facebook has bought other companies (including WhatsApp) and other computer/
technological based businesses.

A small scale business may be an international business; it may carry out its main activity in its
country of origin, but may also import materials or products from other countries and export
(sell) some of its products to customers in other countries. However, a small scale business will
find it difficult to operate in numerous countries. Businesses who operate
in many countries are usually large multinational companies that employ thousands of
employees, manufacture and sell a large number of products and create vast amounts of
revenue and profit.

Carrying out business activity at a global scale is expensive and complicated, most large global
businesses will invest in factories, retail outlets and offices in a number of countries. There are
numerous risks involved, however, the potential reward of increasing customer revenue and profit
attracts many businesses to try and sell their products and servicesglobally.

14
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Business Market(s) Sales Revenue Profit Number of employees

Honda

Nike

Google

Kellogg's

Disney

Samsung

It is important to remember that all businesses in the same market are in competition. A market
will contain businesses that operate at local, national and global scale. When deciding to visit a
restaurant a customer can choose from a locally run caf6, a national restaurant such as
Harvester, or a global brand such as Pizza Hut. These businesses have to compete with each
other for the same customer. This is the same in many other markets and the customer's choice
may depend on factors such as:

. Price

. Quality of product

. Choice of product

. Advertising and promotional activities

. Quality of the customerservice

. Location

'15

The table below lists some well-known global businesses. Use the internet to find out the
information to complete the table.

I

Now compare the infomation you found on these global businesses with the information you
found on national scale businesses.

The businesses listed below are all parent companies who own a number of global brands.
Select one of these parent companies and find out what brands they own. Produce a poster that
can be displayed in your classroom to show the logos of the brands they own.
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Complete the table below and summarise the main characteristics of businesses that
operate at the three different scales:

Explain how the scale of the business will affect the way in which the business operates.
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A business has a number of dilierent functions, these nclude:

Purchasing - responsible for buying anything required by the business, for example, the raw
materials for production, finished products to sell or equipment for administration.

Logistics - how the materials and finished products are transported and stored.

Production - responsible for all aspects of producing goods, from the input of raw materials
through to the finished product.

Marketing - responsible for managing all aspects of marketing including the products to sell,
advertising, promotion, the prices to charge where to sell the product and market research. ln
other words it is concerned about meeting customer needs and wants.

Sales - responsible for finding new customers and looking after existing customers who have
ordered and received goods.

Personnel or Human Resources - responsible for all aspects of ihe relationship between the
business and its workers including, recruitment, training and motivation.

Finance or Accounts - responsible for ail money-related aspects of the business, including
paying the bills, receiving payments. keeping records and drawing up accounts.

These functions cannot operate in isolatlon. They have to work together to ensure the
success of the business. Decisions and actions in one function will affect the outcomes in
another part of the business.

A business needs to coordinate the different functions in order to make sure the whole business is
working together to achieve its aims. The business works best when the functions overlap and
everybody works together.

1. Consider the following business scenario and comment how the actions will requirethe
different functions of the business to work together:

Dynamite Ltd manufacture and sell a range of domestic lights to a number of retailers. The
management would like to invest f '1 million in buying new machinery that will increase the
number of products they can make and reduce the unit cost of making them. This could
result in a reduction of its prices which will lead to an increase in demand from retailers. The
business also wants to look for new customers to buy the extra products they can produce.
The new machinery will reduce the number of workers needed in the factory and
redundancies will take place.

2 Explain why the sales team of a large car dealership needs to communicate with the
following functions within the business:

. Finance

. Production

. Logistics

't7

The nature of business
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Jane Grimes owns and runs a small butchers in a local market. She has been contacted by a
local farmer who has offered her a large quantity of meat at very low prices. She would like to
accept this extra supply of meat as it could be very profitable for her, but the meat will have to
be sold very quickly. What factors does she need to consider before she agrees to buy the meat
from the f armer?

The interdependent nature of business also refers to the external cooperation with other
businesses. Businesses rely on others for their materials and for the distribution and sale of
their products. Supermarkets do not grow or manufacture all the products they sell; they rely on
many suppliers for this. Likewise a manufacturer will not sell its productsdirectly
to the consumer, it will sell these to retailers in large quantities who will then sell to the
consumer.

Businesses have to create relationships and work together. This cooperation is important to
develop trust between businesses.

1. Why has the relationship between Tesco and Unilever broken down?

2 Why is this situation bad for both businesses?
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Studying business requires students to use a Iarge range of business data. Data can be either:

Qualitative - text and words used to describe, analyse and evaluate situations. This data is not
in numerical form. This is descriptive information found by experiences or in textbooks or
newspapers or reports. The article on the previous page about Marmite is an example of
qualitative data.

Quantitative - information about quantities and can be measured and writen down with
numbers. This includes figures, numbers and calculations shown in text, tables and graphs. The
business world is rich with quantitative data.

This resource has examples of news articles from websites and case studies that include a wide
range of business terms. lt is important that business students understand the technical terms
used in the business world.

Quantitative data is used throughout the business world and when studying business,
students have to deal with a range of quantitative data. This can indudd:

. Market data

. Market research data. Financialdata

. Costs and prices

ln addition there are a number of business calculations that have to be carried out: some of these
involve formulas that must be leamt. The details and instructions of these calculations will be
explained in full in the relevant section of these resources. They will include:

. Costs

. Revenue

. Profit

. Break-even

. Average rate of return. Profit and loss accounts

. Cash-flow forecasts

19
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Use of business data

ln your.notes create a key terms list as you progress through the course. Add any business
terms that you did not understand before your teacher explained it.

Read articles in newspapers and online to improve your understanding of business
terminology.

Watch an episode of the Apprentice or Dragons Den and make a note of all the business
terms they use that you don't understand. Find out what these mean.
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Students should also know how to calculate percentages, percentage changes and averages.

WJEC has produced a separate resource on quantitative skills; this should be used to show
how the various calculations should be carried out.

Quantitative d-ata is often presented in graphs, tables and charts. Examples of graphs used in
business.are found throughout these resources, they include pie charts, line griptis and bar
charts. When reading qualitative data, graphs and charts are often included t6 show numerical
data.

Students will be required to interpret (explain what the data means in a business context)
numerical data and data in.graphs and charts in order to show understanding of business activiti
and to solve problems and make decisions.

Often case studies and articles will include a mixture of qualitative and quantitative data,
students should be able to use both these forms of data in order to answer a question o; a set
of questions, build an argument and make judgements.

20

Read articles.in newspapers, magazines, company reports and company websites to get
familiar with the tables. charts and graphs used to present business infoinration.
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Businesses produce goods and provide services.

Goods are products which can be seen, handled, turned on, lived in, eaten, driven and so on.
A good is a physical (tangible) object which can be purchased. There are thousands of different
goods that businesses make and sell to customers.

Goods can be divided into two kinds:

Consumer and producer goods can themselves be divided into two types:

Consumer Goods Producer Goods. Goods that are used directly by
consumers to satisfy their needs and
wants.. The goods are used (consumed) by the
consumer.. These goods are normally bought in
shops, online, catalogues etc.. Examples include cars, chocolate bars
and furniture.. This is sometimes referred to as B2C
(business to consumer)

. Goods that are used by businesses to
make other goods or help them run their
business.. The goods are used by businesses
(producers) to produce consumer goods.. These goods tend not to be available in
shops, but from a specialist supplier.. Examples include steel. roboticsand
barley.. This is sometimes referred to as B2B
(business to business)

Durable Goods Non-durable coods
These are goods that lend to have a long
life. They will be used untilthey break or are
replaced.
There is no fixed time on durable goods,
but they are expected to last at least 3
years_
Examples of consumer durable goods
include televisions, shoes and kettles.
Examples of producer durable goods
include car engines, oil tankers and cash
registers.

. These are goods which are only used or
consumed for a single time or only once.. They are often used immediately by the
user.. The expected lifespan is three years or

. Examples of consumer non-durable goods
include milk, vegetables and ice cream.. Examples of producer non-durable goods
include oil. fertilizers and chemicals.

Consumers expecl durable goods such as dishwashers, refrigerators and sofas to last for at least
several years. ln contrast, non-durable goods are consumed in a very short timeframe, ranging
from just moments after they have been purchased up to around three years. Food and driik ire
the fastestconsumed goods. Petrol is another product that is consumed quickly. Some non-
durable goods last a bit longer. For some products it is difficult to classify ihem as durable or non-
durable. For example, trends in fashion means that for some people cloihes can be considered
non-durable g-oods if they only wear them for one season or if they are children and will grow out
of them after 6 months. For others, clothes can be durable if they continue to wear themJor over 3
years.
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What type of goods are the following?

Oiltanker

consumer
durable good

consumer non-
durable good

Producer non-
durable good

Breakfast cereal

consumer
durable good

consumer non-
durable good

Producer non-
durable good

Pair of men's shoes

consumer
durable good

consumer non-
durable good

producer non-
durable good

Loaf of bread

consumer
durable good

consumer non-
durable good

producer non-
durable good

Manufacturing robot

consumer
durable good

consumer non-
durable good

producer non-
durable good

consumer
durable good

consumer non-
durable good

producer non-
durable good

Natural rubber

consumer
durable good

consumer non-
durable good

producer non-
durable good

Small urban car

consumer
durable good

consumer non-
durable good

producer non-
durable good
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Services are activities that other businesses do for you. A service is a non-physical item that can
be purchased. Examples of services include retailing, hairdressing, dentists, hotels, pubs,
restaurants, computer and lT services, banks, transport and holidays.

Services are sometimes referred to as intangible, which means that you can't touch or handle
them.

The service market employs more people and creates more profit than the goods market in the
UK. lt is likely that you will work in the service market when you leave school. Many small scale
businesses in your local area will provide a service rather than produce goods.

Services can be divided into two kinds:

GCSE Business . Business

Some businesses will offer personal services and commercial services, such as banks, hotels
and builders.

Personal or Direct Services Commercial Services

. These are aimed atconsumers.. Consumers use a wide range of personal
services on a regular basis.. lncreasingly more consumers are
spending a higher percentage of their
income on these services.

. These are aimed at businesses.. Services are used by businesses that do
not have the workers or expertise within
the business to perform the activity.. Typical commercial (or B2B) services
include accountancy, marketing, market
research, call centres and website
support.
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List 3 non{urable goods a parent would buy for thei|I year old child.

List 3 durable goods a parent would buy for their 1 year old child.

List 2 non-durable producer goods needed by a person setting up a new garden
maintenance service business.

List 2 durable producer goods needed by a person setting up a new garden maintenance
service business.

Services

1.

z
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Name of Service Service Type

Personal

Commercial

Personal

Commercial
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What type of services are the following?

lmages of services are listed below, identify the service and state whether you think they are
personal services or commercial services.

Personal

Commercial
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Business Name Market (services they offer) Local, National or Global

The service sector dominates the UK economy, conlributing around 78olo of GDp (This is lhe value
ot all the goods and services produced by theUK). This haa increased from 46% ih 1948.

ln 20'15 over 80% of all UK workers were in the service industry and around 1O% in
manufacturing. The financial services industry is very importani, and London is the world's
largest financial centre.

Carry out a search of your local area to find out what services are offered by businesses.
You could use the intemet, a telephone directory or personal knowledge to do this.

Categorise the businesses as local, national and global scale businesses.



9CPF Business. Business

Percentate of GDP corning from the seruices, production, atriculture and
construction sectors, UK, 1948 and 20132

I S"*i."" # proouai* I Rgri*lture I construction

Source: lndex of Seryices, ONS
Source. Second eslimate o1 GDP. ONS

rI
t00
%

90

Using the data in the graph above, describe what has happened to the service sector
and production (manufacturing) sector.

lf we are producing fewer goods in the UK but consuming more, where are these goods
coming from?

The agriculture sector is now very small, what does this say about the provision of one of our
basic needs?

1.

z

3.
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The businesses we have concentrated on so far all want to make a profit and are owned by private
individuals. They are in the private sector. Most private sector businesses aim to make a pioiit.

Some businesses though are not owned by individuals, they are owned by the government or
local government and these are in the public sector. The aims of these businesaes are different
from private sector businesses in that they aim to serve the citizens of the country.

Public Sector Private Sector

. lncludes organisations that are owned by
the government.

. They are run for the benefit ofeveryone.. They are financed through government
income such as income tax, council tax,
and value added taxes (VAT).. lncludes services such as military, police,
roads, education, health, parks and leisure
serytces.

. lncludes all the businesses owned by
private individuals.. They are run for the benefit of the people
who own them.

. Usually want to make as much profit as
they can.. lncludes charities who want to raise
money or awareness for a particular
cause.

Mosl goods and services in the UK are produced by the private sector by businesses big and
small. lndividuals set up the business, people pay for the goods and services, the incom; is used
to produce more and the profits provide a return to the owners or enable the business to expand.

However, because private sector businesses do not provide all our needs or are not always willing
to produce at a price the majoity of people are able to pay, the public sector provides imdortant -
goods and services at affordable prices. Also some public sector seryices are free at the point of
use, these include hospitals, schools, the police, waste disposal and street lighting. Somd
services, such as policing and the military could nol be run in the private sector as they have a
national role to play and have to serve all the citizens of a country equally.
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n Leisure clubs
Primary school WH Smith Thorpe Park

Local library Ford BT
McDonalds ITV Hospital

Metropolitan Police Local leisure centre

Public sector goods and services are paid for by taxpayers and by government borrowing.
Sometimes the users will also contribute towards the cost. Any money earned goes to the
government or local councils to add to their income and to further improve services. Public
sector organisalions are not generally expected to make a profit.

It is important to note that goods and services do nol have to be provided exclusively by either
the private or the public sectors. The public sector can overlap with the private sector in
producing or providing certain goods and services.
There are many examples of services provided mainly in the public sector which are also
provided in the private sector:
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Below are a number of business organisations.

Place them under private or public sector.

You may have to carry out some research to complete the task.

Public Sector Private Sector



Leisure Facilities There are private leisure gymnasiums and sporting clubs.

Education
There are private schools, some, oddly enough, are called public
schools.

Health People can be treated by private doctors and hospitals.

Transport
The road network is mainly provided by the public sector but toll
roads such as the MO Toll and the Severn Bridge are owned by the
privale sector.

Social care There are private nursing homes.

Emergency Services Factories and airports might have their own fire engines. Private
security businesses exist.

GCSE Business . Business

Public sector providers can move from the public sector to the private sector, this is called
privatisation. ln the UK many businesses that had operated in the public sector were sold and
became private sector businesses, these include British Gas, British Telecom, British Airways and
most recently Royal Mail. lt is also possible to move private sector businesses into the public
sector, this is called nationalisation.

Governments sometimes hire private sector businesses to provide goods and services for the
private sector. this is called outsourcing.
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Why would some consumers prefer to pay private sector businesses for goods and services
they could get for free from the public sector?
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ln order to carry out business activity a business will need a number of different resources,
these resources include:

Raw materials
Machinery and equipment
Workers
Site

These are the materials needed to produce a product. These include natural resources such as
crops, iron, wood, rubber etc. They also include manufactured products that are needed to make
finished products, such as car engines, bricks, cloth, electronic components and paper. lf the
businesses are unable to grow, collect or manufacture these resources themselves they will need
to pay another business to supply them. Businesses need capital (this is money that is invested in
business resources) in order to buy (procure) these resources.

We have already seen thal there are many businesses that manufacture producer goods in
order to sell to other businesses. Some businesses however carry out the primary stage
(where raw materials and natural resources are farmed or extracted from the ea(h) and
secondary stage (where the raw materials and natural resources are turned into parts and
components and finished products) and the tertiary stage (where the business will sell the
product to the consumer). lf a business is going to carry out all three stages then they tend to be
either small scale businesses producing and selling low quantities or large businesses who have
the resources to invest in lhese processes.

The interdependent nature of business is important when procuring raw materials, components
and finished products as a business will rely on other businesses to either provide the right
supplies in the right quantity at the right time and price, or buy its products in order to sell to the
consumer.

Businesses will also need machinery and equipment which they need to carry out their
business. The machinery and equipment will not be sold to consumers but used in the
production or providing a service. Examples include tills in supermarkets, robotics in
manufacturing, vans for delivery, computers in the finance office, aeroplanes for travel
companies and tractors for farmers.
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Resources needed to and services

For the businesses listed below make a list of the raw materials, components and finished
products they need to carry out their business activity:

Shoe factory
House builder
Car manufacturer
Mobile phone manufacturer
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When purchasing machinery and equipment a business has to be careful to make sure
it spends its money wisely. lt is no good buying equipment that is not used effectively or buying
equipment that is hardly used. Th s can be a big expense for a business; in particular, for small
scale businesses the capital invested in machinery and equipment should help to make the
business profitable. Spending money on ineffective machinery and equipment will waste money
and this money could have been used more etfectively on other resources or activities.

For the businesses listed below make a list of the machinery and equipment they need to
carry out their business activity:

. Shoe factory

. House builder

. Car manufacturer

. Mobile phone manufacturer

Businesses that are focused on offering a service rather than making a product also need
machinery and equipment. For the service businesses listed below make a list of the
machinery and equipment they need to carry out their business activity:

. Dentist. Hotel. Supermarket

. Hairdresser

Workers (employees) are a very important resource for a business. This is often referred to as
human resources or labour.

This includes the physical and mental effort put in by humans to either gather the raw malerials,
produce the components and finished goods and to sellthe goods and services to the consumer.

For many businesses, human resources are the most expensive form of resource as workers will
require payment on a regular basis. The more complicated the job the more expensive the
payment to workers will be.
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For the following businesses identify 2 different types of jobs and comment on how
expensive they will be to employ:

Type of Business Examples of Employees Cost to the Business

Fast food restaurant

Solicitors

Audio and vision electrical
manufacturer

It is important that businesses employ the people who have the necessary skills, therefore
many businesses will take care to employ the right people. Many large scale businesses will
have a human resource function (department) that will specialise in recruiting the right people
for the right job.

We have seen already the importance of the service sector in the UK and how many jobs are
based in this sector. lt is important that workers have the right skills to carry out jobs in the
service sector.

1. Explain what skills are needed by workers who work in the following service businesses:

. Banks

. Hotels

. Retail

2. lt is often reported in the news that there is a skills shortage in the UK, particularly for
school leavers and graduates. What does this mean? What does this mean for
employers?

A business has to operate from somewhere, for some small businesses this may mean operating
from the home or garage, but for most businesses it means they need a place to carry out its
activities. This can be a very expensive cost to the business and will often require a large initial
payment to purchase the site. The size and nature of the site will depend on the business activity.
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National shoe retailer

Manufacturer of glass bottles

Some businesses will buy the site and some will rent the site. l\.4any small businesses tend to
rent as this does not require a large initial investment. However, it will have to pay regular
payments to the landlord. Some large businesses also prefer to rent as they don't want to spend
large amounts of money on purchasing land and buildings.

For some businesses that need to be close to customers and have a high level of footfall (the
number of customers that pass by the site) the sile is a very important feature of the business
and care must be taken on what site to buy or rent. For other businesses, such as
manufaclurers, other features (for example the size and road access) are more important. The
location of the site, together with the size and nature of the site will affect how much it will cost.

The money that a business spends on raw materials, machinery and equipment, workers and site
will depend on the nature of the goods and services it offers, the scale it operates at and the
ambitions of the owner(s). lt must be remembered that business activity involves risk and there is
no guarantee that it will succeed. Businesses, like individuals, have to be careful what they spend
their money on; money spent on resources should be an investmenl in the future performance of
the business.
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Complete the table below by identifying what type of site is needed by the business:
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Business enterprise is the action taken by individuals to start a business. Enterprise requires
initiative from the individual to start the business: however it also carries an element of risk.
lnitiative is the ability to identify a business opportunity and do something about it. Starting a
business is risky, there is no guarantee it will work. Starting a business will involve investing
money, as there is no assurance that the business will work it is possible that this money will be
lost.

An individualwho has this initiative and is willing to take the risk is called an entrepreneur.

The UK has many entrepreneurs, many of these run large organisations, however, the
ma.iority of entrepreneurs run small scale businesses and are very important to the UK
economy.

Entrepreneurs carry out a number of roles in business activity:

.lnitiative

.lnnovation

. ldentifying opportunities

. Organising resources

The role of the entrepreneur is crucial to the business world, not only for new business start- ups,
but also with existing businesses. The competitive and dynamic nature of the business world
means that businesses have to continue to grow and change to make sure they stay successful.
lvlany entrepreneurs are innovative, always looking for new goods and services, new ways of
manufacluring or selling their goods and services or new markets to explore.
lvlany entrepreneurs are also inventors or think of a new service that has not been previously
provided.

Entrepreneurs often see opportunities that others miss, they see ways of making a profit by
offering existing goods or services to new customers, adapting existing goods and services, or
initiating new goods and services. However, all this initiative and innovation is only made into a
business idea if the entrepreneur has the ability to organise all the resources required to make the
business profitable.

The govemment is keen lo encourage enterprise as increased business start-ups creale
wealth for the country as well as for the entrepreneur.

ln 2015 over 600 000 new business were created, a slight increase from 2014. ln the first 6
months of 2016 nearly 350 000 new businesses were created so the enterprise culture in the UK
is continuing to grow stronger.
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The diagram below shows the number of business start-ups in the UK:

The governmenl has supported enterprise through initiatives such as StartupBritain. The

key characteristics of an entrepreneur include;

. Being a risk taker - entrepreneurs risk money and their own time to try and create a
business and make a proflt. They may remortgage their house or take out other ioans or give
up well paid jobs to try and make a success out of their business idea.

. Taking initiative - entrepreneurs are often proactive and are willing to change or make
important decisions when required.

. Making decisions - when running a business there are many decisions to be made,
successful entrepreneurs can make crucial decisions quickly to make sure the business
can take advantage of business opportunities.

. Organising the business - an ability to be an effective organiser is crucial when running a
business. The entrepreneur may need to carry out a number of different activities, running a
business can be a complicated activity and there are only so many hours in the day.

. Being creative and innovative - creativity in business means the ability to come up
with innovative concepts and ideas, or developing a better way of doing things.
Competing with other businesses often means that a new business has to offer
something new or inlroduce a new product that is not already being provided.

. Hardworking - successful entrepreneurs are generally hard working. This is essential if the
business is to be successful, especially in the early days of the business. On average
entrepreneurs work for 52 hours per week, compared to 38 hours for an employed person.

. Being determined - this is key to many entrepreneurs. New businesses have low success
rates, entrepreneurs have to keep going even if the business is struggling at first. A new
business will face difficult challenges and not all ideas initially work, many famous
entrepreneurs admit that it took them some time to get the right idea and make a profit.

581,173 608,110
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The people listed below are examples of successful entrepreneurs.

Julian Dunkerton
Thea Green
James Dyson
Denise Coates
Deborah Meaden
Richard Branson

Select one of them and find out:

. How they started their business

. The goods and services they provide

. Their characteristics that helped them become successful

. How much they are now worth

Produce a one-sided fact sheet that summarises your findings.

Your teacher will select the best fact sheet per entrepreneur and create a resource with
information on all the entrepreneurs.

Why do people start their own business?

Entrepreneurs have a number of key motives for starting their own business:

. To gain a profit - the motive is financial, this is considered the key motive for many
entrbpreneurs. The reason entrepreneurs risk losing personal savings or take out a loan is
the possibility of making a decent income from their business.

. To use redundancy money - some entrepreneurs are forced into starting their own
business as they may have lost their job, or maybe cannot get ajob.

However, in addition to this financial motive there are also other non-financial key motives:

. To turn a hobby or pastime they enjoy into a business - creating a business out of
something you enjoy gives great satisfaction and can be enjoyable. lf this is the key
motive then an entrepreneur may decide not to maximise profits but to have an
enjoyable experience, just working enough to give them a decent living.

. Control - often people just want to be their own boss, in control of their working life. Working
for someone else is not always rewarding and some people get fed up being just another
worker in a large organisation. Entrepreneurs are often people who want to lead rather than
being told what to do. Running your own business also gives the owner flexibility, setting
your own goals and working your own hours.

. To help the community - some entrepreneurs start with a vision to help certain people
within iociety. These arb often referred to as social enterprises and promote ethical,
environmental and moral business activities. Entrepreneurs who want to help the
community will want to make a living out of the business, but the profit is either reinvested
to improve the business or used to promote a particular issue.

. Making a difference in the world - some innovate entrepreneurs start as they believe
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they can improve the life of others. This is true of people like James Dyson and Bill Gates
who both wanted to invent products that would make cleaning homes easier and making
computers more affordable and enjoyable.

What are the rewards and risks of business enterprise?

The obvious reward for being a successful entrepreneur is financial, if a business is successful
then the profit it makes will go to the owner. The more successful the more profit.

For most entrepreneurs this profit is sufficient to give them a good living and thousands of small
scale businesses reward their owners with a decent living, the financial rewards maybe similar to
a salary they can earn by working for somebody else, but together with other non- financial
motives may give them a very nice lifestyle.

For some entrepreneurs the rewards are enormous, these include famous people who are in the
news and have businesses who employ thousands of people, creates huge profits and provide
well known goods and services.

The table below shows the personalwealth of successful entrepreneurs in the world.

The table below shows the personal wealth of famous entrepreneurs based in the UK.

ln addition to the financial rewards entrepreneurs also achieve non-financial rewards, these

include:

Satisfaction of running your own business
Building something new and building a legacy
Obtaining good customer feedback

Entrepreneur Business Personal Wealth (2016)

Bill Gates N.4icrosoft $75 billion

Jeff Bezos Amazon $45.2 billion

Mark Zuckerberg Facebook $44.6 billion

Larry Page Google $35.2 billion

Entrepreneur PersonalWealth (2016)

Roman Abramovich t6.4 billion ($9.21 billion)

James Dyson e5 billion ($7.2 billion)

Sir Richard Branson 14.52 billion ($6.51 billion)

Sir Alan Sugar 81.4 billion ($1 .7 billion)
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The main risks in starting a business are financial. Profits are not guaranteed and losses are
common for new businesses. Many new businesses don't manage to last more than a year and
close down due to the low levels of revenue they make. Research has shown that 90% of new
businesses don t make it past their second year of trading.

When starting a business an entrepreneur will estimate the sales needed to be profitable,
however, often these sales are lower than expected as tryinq to establish a new business in a
competitive market is not easy. Why should people start buying from a new business when they
are happy and loyal to an existing business?

ln addition, it is ditficult to estimate the costs the business will face when they start trading, often
these costs can change during the year or unexpected costs can occur. lnexperience may mean
that the costs have been incorrectly estimated. Having increased costs will reduce profit and may
even result in making a loss. The profit margins for new businesses (the difference between
revenue and costs) are usually very low, so having extra costs will result in lowering the profit
margin even further.

Unexpected events such as poor weather, a new competitor opening a bus ness close by, theft,
a customer complaint shown on social media or ill health of the entrepreneur is also a risk. New
businesses may not have the resources, such as a healthy savings account, or an alternative
person to run the business to get the business through these difficult times.

Some risks are non-financial, the entrepreneur may not have the full set of skills to run the
business effectively and may make mistakes that result in losing customers and revenue. Due to
the long hours needed to establish the business and levels of stress involved in making all the
decisions, the entrepreneur may become ill or disillusioned with the business, especially if all the
hard work is not resulting in a decent profrt.

1. Explain why new businesses face many risks.

2 Do you agree with the following statements? Explain youranswers.

. The only rewards for entrepreneurs are financial.

. AII entrepreneurs are successful.

. All successful entrepreneurs are millionaires.

. Starting a new business is verychallenging.

. I have the characteristics and motives to be a successful entrepreneur.
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Cass Study: Creative Designs

Cana Robinson had worked for a bank for 6 years since
completing her university degree in Graphic Design. Although
Carra received a steady wage from herjob with lhe bank she did
not feel challenged, and longed to put her expertise in design-
work to use.

Cana offered to design a promotional leaflet for a friend's new
business, she produced the leaflet on her home computer and
printed 200 copies. Carra's friend was so impressed with the
design and quality of the leaflets that she asked her to produce a
business card and newspaper advert to complement the leaflet.
This gave Cana the confidence to pmmote her services
to other small, local businesses and she managed to obtain a number
print promotional materials.

More Orders

and

Cara was soon receiving regular and repeat orders, she completed these in the evening after
her days work in the bank. lt was difficult holding down a full-time job, looking after her young
family and completing the orders, but she enjoyed the creative aspect of the work and
wanied to give up her job in the bank to become self-employed.

Carra was nervous about giving up the regular wage from herjob at the bank, she realised that
starting her own business would be a risky decision as she also needed to invest money into
purchasing a better computer, design software and printer to enable her to provide a
professional service. Cana saved all the income she made fmm her design work until
eventually she had enough money to upgrade her equipment and software.

Showing lnitiative

One day a regular customer of Carra's complained that the delivery people they were using to
distribute the leaflets door-to-door in the local area were not providing a reliable service; a box of
Cana's leaflets had been discovered discarded in an alleyway. Carra realised that there was a
gap in the market and decided to provide an optional leaflet distribution service for local
businesses, for an additional charge. Cana involved her husband and other family members in
the distribution of leaflets, but realised that if her business was to continue to grow she would
need to give up her work at the bank.

Cana sent samples of her work, together with a price list, to larger businesses in the area
and contacted a local printing shop to negotiate favourable printing costs to further improve
the quality of her leaflets and enable her to complete biggerorders.

Big Break

Cana's big break occuned when a local businessman, who owned several convenience stores,
asked her to design a 4 page leaflet not just for the local area, but also for convenience stores
in other nearby towns as well - her largest order to date. Carra was nervous about accepting
the order but decided to take the risk. The customer was pleased with the work and placed
further regular orders.
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Success

Cana admits that her workload is far heavier than she expected - she \,r,orks longer hours
than she did at the bank. Cana has also found that running a business has required that she
develop new skills not previously required in herjob at the bank.

As Carra's business has grown she has needed to develop people management skills in order
to lead her new employees, bookkeeping skills to complete her tax retums @rrectly and time
management skills to ensure her customer orders are managed efficiently.

On the whole, Carra describes running her own business as challenging but rewarding and
does not regret her decision to become self-employed.

1. Suggest two motives Cana had for starting her own business.

2 Why do you think Cana was reluctant to give up her job to slarl her own business?

3 ldentify three characteristics Cana needed to be a successfulentrepreneur.

4 Whatfinancial and non-rlnancial rewards has Cana achieved from running herown
business?
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All businesses need to plan for the future. The activities carried out by a business should be co-
ordinated in order for the business to achieve its aims. For new businesses this is essential as
there will be so many challenges it will face and the owner(s) will have limited business
experience. Planning is also important for established businesses, to make sure they remain
successful in a competitive and dynamic business environment.

It is very important that a business has a clear idea of what it is going to do, effective business
planning can make the difference between success and failure.

Failing to Plan is Planning to Fail

Business planning involves looking at various aspects of the business:

. What exact goods and services will the business offeP

. How willthese be sourced?. What resources are needed (raw materials, machinery and equipment, workers and
site)?. What start-up capital is needed?

. ls extra finance needed? Where will this come from?

. How will the business operate?

. How will the business attract customers?

. What does the business want to achieve?

. What will be the costs and revenues for the business?

. How will a profit be made?

A business plan will help a business to plan its future activities. Business plans are used by
businesses to:

. secure finance

. show the future vision of the business

. prioritise what is needed to be done in the business to make a profit

. consider opportunities and risks

. organise business activities in a logical and structured way

. help the business make decisions

. map out the actions needed to achieve business success

. make sure the business has the necessary resources

. help the owne(s) measure the progress ofthe business

Business plans are used by new start-up businesses, the plans will differ in size and content,
depending on the scale of the business and if extra finance is needed. For example, an
entrepreneur who wishes to start a small online website to selljewellery, who has enough money
from their savings to finance the business, may produce a brief business plan that they will just
use for their own purpose. The business plan will briefly summarise lhe key targets and the
actions needed to make the business a success. However, if an entrepreneur was starting a
business on a larger scale that required finance from an investor then a more detailed plan would
need to be written.

A start-up business will often seek finance (investment) from other people (investors), these
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may be banks, other entrepreneurs, or business angels (people who invest in a business
in exchange for a share of the ownership, and profit of the business). There are many new
businesses that seek this finance from investors; a detailed and accurate business plan is an
excellent tool in helping a new business secure finance from investors.

Business planning is an ongoing activity and business plans should be regularly reviewed and
updated whenever circumstances change. Business plans should also be used to monitor the
business and make sure the business is meeting its targets.

There are no stricl rules about what should be included in a business plan, and the content will
differ depending on the type of business and the market they will compete in. However, in general
plans need to include information on;

. Business description - this should include details about the owners and what the business
will sell. lt may also include information on the vision of the owners, how much money is
needed to start the business, what their goals are and the owne/s background (CV).

. Products and services - what will the business sell? This should include the full range of
products and services. Are patents or trademarks needed?

. The market - who are the customers and competitors? This should include information on
who are the intended customers for lhe business (target market), and the strengths and
weaknesses of competilors.

. Market research - what research has been carried out to find information aboutthe
market and customers?

. Market strategy - this should be based on the market research. How willthe business
communicate (advertise) with customers? What advertising media will be used? How will the
business distribute its products and services? What prices will be charged?

. Operational strategy - how will the business work on a day to day basis? This should
include information on how the product will be produced or sourced. Where will the
business be located? What equipment is needed? What suppliers will be needed? When
and how will customers pa)4 Are there any legal requirements? Will the business need
transport?

. Human resources - will the business be run by the entrepreneur or will other employees
be needed? What skills are needed by employees? How much will it cost to employ other
people? What management roles will need to be fillwed as the business grows?

. Financial strategy - this is an essential partofthe plan. What funding is needed? What are
the costs and likely revenues? A likely sales and costs forecast (cash flow forecast),
predicted profit for the first couple of years should be included. What potential risks exist that
might affect the flnancial predictions? What are the potential retums (financial rewards) for
an investor?
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There are many business plan templates and advice on mmpleling them available on the
intemet. Sites include:

https://www.gov.uUwrite-business-plan
httos://www.orinces-trust.orq.uUhelp-for-vounq-Deoole/tools-resources/business-tools/
business-plans
https://www.startuploans. co. uUbusiness-plan-template/
httpl/www.sage.co.uk/business-advice/starting-and-planning/how-to-write-a-business-plan
http://www. barclays.co. uk /insig hvwriting-a-business-plan

'1. Search these sites and summarise what advice they give to people who want to start-up
their own business.

2 Download one business plan template. Think of a potential business you would like to
start-up and complete thetemplate.

Ali has set up a juice bar in a busy town cenlre location. Here he uses fresh fruit which is
processed to create a healthy drink. Ali competes with a number of other - mainly larger -
businesses in the town. He is thinking about expanding his business and realises that he will
need to draw up a business plan.

1. Why will Ali draw up a business plan if he is going to expand the business?

2. What information should Ali include in his business plan?
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Aims and objectives are goals that the business will set itself. These are used to measure the
success of the business.

Businesses are not the only organisations that have aims and objectives, your school or college,
football teams, the police service and government all have aims and objectives.

lndividuals also have aims, although these are personal to the individual, the concept is the
same as it is for businesses, we all need targets in our life to challenge us and make us put the
effort in to achieve those targets.

Business aims are what the business wants to achieve in the future and they tend to be quite
generic and broad. They set out the goals for the business.

Business objectives are more specific and measurable targets the business will set to achieve
its aims.

Business aims can be grouped into the following main categories:

. Survival

. Profit maximisation

. Growth

. lncrease market share

. Customersatisfaction

. Ethical and environmental

Many businesses fail within 2 years of being set up, so for a small business, the initial aim is to
survive the difficult time of gaining customers, establishing a good local name and building a
reputation. Even for some big businesses survival can become a priority. Many established high
street retailers have struggled in recent years. The main aim of these retailers was
to survive in the short term; however retailers such as BHS, JJB Sports and Comet have all
ceased to exist.

To survive a business has at least to break even. This means that it makes neither a profit nor a
loss. lf a business continually makes a loss it will almost certainly go out of business. During times
of economic recession (when sales can be low) larger businesses will have to adjust its aims, they
may be able to cope with making a loss for a short while, but eventually they will have to carry out
actions to turn this around, this can involve making workers redundant or closing a number of
outlets or factories.
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Most businesses want to do more than just survive; they want to make a profit and lots of it.
They want to make as much as possible.

Maximisation means to make the most of something, to make the most possible profit is to
maximise profit. Profit is what remains after all the costs of running the business have been met.

REVENUE

Money coming
into the business

cosrs
lvloney going out
of the business

PROFIT

= 
lvloney left over

Josh runs a small computer shop. Last year he spent e20 000 on setting up the business and
buying his stock. He spent a further 115 000 on other msts. His revenue totalled f37 000.

Work out his profit.

Profit maximisation is possibly the main aim for most businesses and entrepreneurs. After all, why
would you run a business or invest in a business if there is not going to be a worthwhile cash
return? Profits can be maximised through increasing revenues and/or reducing costs.

Read the information on the businesses below:

Dixons Carphone Profits Jump 19%

Profits at Dixons Carphone have jumped 19% after a rise in sales of phones and
domestic appliances in its home market.

ln the six months to 29 October, pretax profits climbed to €144m while sales rose 4olo to
t4.9bn.

'We have been focusing on reducing our fixed cost base," said Seb James, group chief
executive.

Dixon Carphone reported groMh in all its main divisions, including a 23olo jump in sales in
Nordic countries, where it benefited from the weaker pound.

Sales were also positive in its core markets, the UK and lreland, where it trades under the
brands Currys, PC World and Carphone
Warehouse.

That was partly driven by higher sales of mobiles
and consumer electronics, as well as a plan to
reduce store numbers.

The company aims to close 134 outlets while it rolls out
electrical superstores that merge its three main brands.
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Gatwick Airport Profits Fail Despite
Passenger lncrease

Profits at London Gatwick Airport fell by l3olo in
the first half of the year despite increased
passenger numbers,

The West Sussex airport recorded a pre{ax profit of
e116m in the six months to 30 September 2016,
compared with 1134m during the same period last
year.
A total of 25 million passengers travelled through
Gatwick in the first half of the year, an increase of 6% but growing operating costs
contributed to a fall in profits.

Gatwick chief executive Stewart Wingate said the airport's groMh would slow next year.
He said: 'We're confident that we can continue growing the aieort but in the long run we're still
continuing to offer the govemment the opportunity of expanding Gatwick."

ln October, Gatwick's bid to build a semnd runway was rejected by the govemment in
favour of expansion at Heathrow.

Mr Wingate added that the airport was "very happy to compete with Heathrow."
Gatwick is undergoing a 91.2 billion five-year investment project to expand the departure
lounges and shopping facilities in its two terminals, improve its railway station, and provide
more pa*ing spaces.

Adapted: bbc.co.uk

1. Both businesses aimed at maximising profits. Comment on how well they have
performed.

2 ldentify the factors that affected the pofits for Dixons Carphone and Gatwick Airport.

3 Suggest and consider how Gatwick Airport could increase revenue. You need to consider the
positive and negative impacl of yoursuggestion.

fi St9lrrifi6Hrld"den$bf, fi itu,
environment. A business should aim to keep moving forward and not remain static. A
business can grow in a number of key ways:

. Sell more ofthe same goods and services in the samemarket

. Sell more ofthe same goods and services in different markets

. Extend its range of goods and services

. Open new distribution outlets and/or factories

. Employ more workers

. Purchase new machinery andequipment

. Take-over another business either selling the same goods and services ordifferent
goods and services 46
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lvlany businesses will focus on sales groMh, which is selling as many of its goods and services as
possible. This is linked to increasing market share.

Some businesses will spend large amounts of money to improve its groMh. They hope that this
will lead to greater profits in the long term. Grolvth is often based on reinvesting profits, which will
reduce short term profits but leading to greater market dominance (a higher market share) in the
longer term that can lead to greater profits.

The market share is the proportion of sales made by a business in relation to the whole
market. The market share is calculated by the number of customers a business has and is
usually given as a percentage. For example, if consumers as a whole buy 200 bars of
chocolate and 50 bars are bought from one business, lhen that business will have a market
share of 25%.

The global market share for smart mobile phone handsets in 2016 (for the 3rd quarter, July,
August and September) was:

Others are made up by many other businesses whose individual market share is smaller than the
main 5 businesses. Samsung are the market leaders (the business with the largest share of the
market). The figures above are for the global market for smart phones, however, there are also
figures for local, regional and national markets. The market share within one region may be
different from the global market. For example Apple may have a larger market share within the
US, where it is based.

Market share is important as it shows how well the business is doing compared to the
competition and it aliows the business to measure the success of its activities in the market as
a whole. Businesses that have a higher market share are usually more profitable and in a
stronger position in the long term. Being the market leader is also beneficialwhen negotiating
with other businesses and improves its status and reputation.

Through increasing brand identity some businesses may concentrate on establishing its
brand name through customer loyalty programmes, advertising and new product
development so they become the most recognised business in their market. ln the short term
this may reduce profit but in the long term it could result in achieving higher sales and profits.

They mayeven be ableto force other competitors outofthe market, by using loss making
pricing strategies in the short term, that the competitors can't compete with.

Business Market Share

Samsung 20.oo/a

Apple

Huawei 9.3%

OPPO 7.Oo/o

5.8./.

Others 45.40/o

Total 100.0%
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data on smart phones in the

Apple

13%

Huawei

gyo

ln the UK the chocolate market is dominated by three large businesses.
Find out who they are and what their market share is.

Read the information below then answer the questions that
follow.

Tinyville is small town with a population of 5 000 people. lt has 4
pizza takeaway and delivery businesses. 600/0 of the population
regularly buy pizzas from these 4 businesses. The businesses
have the following number of customers:

usually presented graphically in a pie chart. The
be presented as follows:

Global market share smart phones
2016

Supreme Pizza 1 200

Pizza Delight 1 000

Gino's Pizza Parlour 500

Pizza Amalfi 300

The average price a customer pays for pizzas in Tinyville is !15.

1. Calculate the market share for each pizza business.

2 Construct a pie chart to show the market share. Clearly label the

3 Calculate the total revenue for the pizza market in Tinyville.

4 Suggest why Pizza Amalfl has just 300 customers.

Google has nearly 90% of the search engine market in the UK. Bing

piechart.

has the second largest,

4B
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Customer satisfaction measures how goods or services supplied by a business meet or surpass a
customeis expectation. Customer satisfaction is important because it provides business owners
with information that they can use to manage and improve their businesses.

Sales made by a business are linked to the levels of customer satisfaction. lf a business fails to
meet customer satisfaction then it could result in a decrease in sales and profit. Equally, if
customer expectations are met and customers are happy with the goods and services they
receive then it is likely that sales and profits will increase. ln a competitive business
environment it is important that businesses meet customer expectations, otherwise they will take
their cuslom elsewhere.

A business may focus on improving customer satisfaction with the hope that this wiil lead to
improved sales. lf a business has experienced problems with satisfying customer
expectations in the past, it may well decide to make this a key aim in the future.

Failing to meet the needs of customers is particularly true for small businesses that rely on repeat
business and positive word-of-mouth (the passing of information and opinions by oral
communication between people who use the business) advertising for its success. This can
alienate current customers and stop the business attracting new customers. The reputation of the
business will suffer and this could also impact on other businesses who will not want to work with
the business and even employees may wish to leave if they are constantly facing angry
customers.

49

al To/o,

Explain the benefits to Google of its dominance in this market. (Think where Google gets its
revenue from).
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Read the information and answer the questions that follow.

Strike-hit Southern rail has ranked lowest in a UK-wide survey of customer
satisfaction.

The figures, compiled by consumer organisation Which?,
showed nearly half of Southem's passengers said their last
joumey was delayed.

The rail operator has seen months of strikes in a long-
running dispute with two unions, the RMT and Aslef, over
the roles of guards on trains. Parent company Govia
Thameslink (GTR) said the firm was "sincerelyson/.

ln the annual survey of all UK train firms, Southem scored
21o/o and received one star for punctuality, reliability, seat
availability, frequency and value for money - 46% ol
passengers said their most recent joumey was delayed.

Researchers surveyed 2,218 commuters and Southem's results were based on the views of
256 passengers.

Which? Campaigns and Communication Director Vickie Sheriff said "Though Southern have
performed particularly badly this year, the whole sector is continually failing passengers.

"Overcrowding, delays, short trains, carriages in poor condition - many services aren't
providing even the basics. Enough is enough. We need rail services that finally deliver."

Ad a pted : www. bbc. co. u Anews/u k-e ng land -3864 1 566

1. How have Southem Rail failed to meet customer expectations?

2 Explain why focusing on customer satisfaction may improve the business.

on the environment, consider the needs of society and have aims which are based
on their beliefs. For example, businesses may try to ensure suppliers in developing countries
have fair working conditions; ensure employees are earning a fair wage and sourcing raw
materials from sustainable sources.

Having ethical and environmental aims may impact on the profit that can be made, however,
businesses that focus on ethical and environmental aims are happy to do this as they believe that
they have an important role to play and the focus for the business is not profit but society and the
environment. Public sector organisations, such as the NHS and schools will aim to provide a
service and improve the health and education of the public. Charities are established to promote
a specific cause and this will be their main aim.
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What are the aims of the following organisations?

Oxfam RSPC
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Cancer Research UK

Examples gf private sector businesses that have strong ethical and environmental aims include
The Body-shop, co-op, Google and Microsoft. This airi may come at a cost though in terms of
lower profits for the business. However, modern businesses have to be respectfuiof the wider
communrty and take their social and environmental responsibilities seriously.

Google has the motto: "Don't be evil." Through its Google Green program, it has donated over
$1 billion to renewable energy projects, and has decreased its own footprint by using energy
efficient buildings and public transportation. Google employees have access t6 free 

-health-iare
and treatment from on-site doctors, free legal advice with discounted legal services and a free
on-site nursery.

Nearly all large multinational businesses have ethical and environmental aims. These are
often in addition to other aims they have.

These are usually shown on their website and used to promote the business. Visit the
websites of some well-known multinalional businesses and find out what ethical and
environmental aims they have.

Although profit m-aximisation might be the prime aim of most private businesses, it is not the only
aim to pursue. Of course, businesses can work to achieve more than one aim at the same time.'

B.usiness objectives are the measurable targets set to achieve business aims. Objectives will
give the business a clearly defined target. These can then be used to plan activitiesthat can be
carried out to meet the objectives and aims of the business. Specific objectives can be
used to measure business progress and also to give clear direction to ehployees on what the
business wants to achieve.

Objectives should be written using the SMART model, in order to make them clearer and
more meaningful to understand and achieve:

Specific - objectives should specify what the business wants to achieve. They should be clear so
that all stakeholders understand what the objective is.

Measurable - objectives should be measured to make sure the objective has been achieved.
This measurement should be numeric.

Agreed - by all those concerned in trying to achieve the objective. The objectives have to be
achievable and attainable. There is no point in setting an unrealistic target, this can be
demotivating.

51



GCSE Blsiness . Business

Realistic - is the business likely to achieve the objectives with the resources available?

Timed - a timescale needs to be set for achieving the objectives.

SMART objectives are used to provide the clarity, focus and motivation needed by businesses to
achieve their goals.

SIVIART objectives help to focus attention and gain commitment from all levels of employees
within a business to agreed performance targets. They will also encourage team work, ind they
direct resources to where they are needed the most.

SN/ART objectives also enable feedback and learning within the business, so that
management can monitor achievement and make changes where necessary.

Examples of SMART objectives could include:

. GroMh objectives: to grow by 15% a year for the next five years by investing an
additionalelm in advertising and opening 10 new stores.. Market share objectives: to achieve 407o market share from our current level of 3570
within 3 years.

' Profitability objectives: to reach a net profit margin of 1 1 % in the next five years.. Sales objectives: to increase sales by 5o/o trcm 2018 - 2019 in at least the following 3
product ranges - menswear, shoes andtoiletdes.. Environmental objectives: to reduce the waste from our factories by 10% by 2020.

Write a SMART objective for yourself. Base the objective on your school performance.

Write a SMART objective for the following businesses:

Jenny Hughes owns a small business selling children's clothes. She wants to increase the
number of customers she has and start seiling other goods such as prams, cots and
children's furniture.

Diamond Plastics manufacture and sell plastic containers to other businesses that sell
packed foodstuffs. They are concerned about the pollution the factory produces and wish
to reduce this.

The Pines Hotel is owned by Richard Jones, for the last two years the hotel has made a loss.
He is determined to tum the business around and make a profit within the next few years.

Business aims and objectives are not static and a business may change these over time. ln a
dynamic and competitive environment, businesses need to review their aims and objectives. The
cause of this change can be internal or external.

lntemal change occurs as a business never stands still. What was an important objective last
year may no longer be relevant. For example, a new business may have had its prime objective
as survival, to break even in the {irst two years of business. lt now may be readyto
start growing and increasing its customer base or market share. Alternatively, a business thal was
focusing on increasing market share for the last three years may now be in a position to take
advantage of having a large base of loyal customers and start focusing on maximising

1.

2
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profits. A multinational business that received bad publicity over the year by paying employees
a wage below the national minimum wage, or using a supplier that exploited its workers, may
decide to focus on ethical objectives in order to improve its public image.

Elternal change is change that the business has no control over. This could include economic
factors such as a reduction or increase in consumer incomes, a rise or decline in unemployment
or an increase in tax the business has to pay. Other external factors include a change in
consumer tastes and fashions, the introduction of a competing good or service by a competitor,
new laws affecting the manufacturing or selling of particular goods or services, introduction of
new technology, such as robotics, or a change in demographics (characteristics of the
population of the market the business is operating in).

Reviewing and changing aims and objectives will help businesses react to the dynamic nature of
business and help it continue to be successful.
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Whatever the business, however small or large, it is not just the business owner who is
affected by its activities. Many other people and groups care about what goes on.

Stakeholders are groups that have an interest in the success of a business. They affect and can
be affected by business activity. There are many stakeholders in a business and each may have
different reasons for being involved.

The main stakeholders in a business are:

Employees Customers

Managers

Shareholders

Owners

Pressure groups

Thegovernment Suppliers and lenders

Each stakeholder group will be interested in the performance and actions of the organisation
and will have different expectations.

Owners

The owner of a business has contributed their own money to developing the business and will
have a great influence on the actions of the business as they are highly involved in decision
making. Owners will be concerned with the survival and the financial success of the business.

Shareholders

Some owners are called shareholders as they have invested money into buying a share of the
business. Most shareholders are not involved with the running of the business, but will
instead elect directors to control the business on their behalf (more details on shareholders is in
the business ownership section).

Managers

A manager is someone who makes decisions about the way in which a business operates. ln a...

small business the manager will be the owner, however as a business gets bigger m.anagers will
be employed by the owners to run a section or branch of the business. Managers will want the
business io suiceed as their future employment will depend on the business surviving. They will
be concerned with receiving good pay, job security, good working conditions and job satisfaction.
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Employees

Employees are those who are paid lo carry out a specific job of work for a business. Most
businesses will have employees. Employees tend not to have any influence over the owners and
do not make any big decisions that affect the business. Employees will also be concerned about
receiving good pay, job security, good working conditions and job satisfaction.

Customers

A business cannot survive without customers as their purchases provide income for
th€ business. Therefore, customer behaviour will influence how the business operates. Cuslomers
will expect good quality products and/or service, a good choice and value for money. lf customers
are unhappy with the actions of the business they may take their custom elsewhere.

Suppliers and Lenders

Businesses rely on suppliers to provide them with the materials they require to provide their
customers with goods and services. Suppliers will want businesses to be successful so that thev
will continue to receive orders. lt is importanl that a business has a good relationship with its
suppliers so that they can rely on them to deliver good quality supplies, on time and at a good
price. Lenders will expect the business to repay its debts.

The Government

The government wants businesses to succeed as the better the financial performance of the
business, the more taxes it will pay to the government and the more employment
opportunities it will offer. The government influences a business in a number of ways.
A govemment can create laws and regulations that affect the business directly and a
government's general economic policies will also have a considerable effect. For example
interest rates and minimum wage levels will influence how a business is run.

The Local Community

Businesses provide employment and facilities for the local community. Sometimes the
actions of the business may inconvenience the local community through pollution, traffic
congestion or business closure. Large businesses will have a greater impact on the local
community than smaller ones.

Pressure Groups

Pressure groups are groups of people who get together to express their objections to a
particular government policy, business decision, or the effects of an organisation's actions. An
example of a pressure group would be an environmental organisational established to complain
about the high pollution levels caused by industry. Pressure groups can persuade businesses to
change their actions.
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Stakeholders will be able to influence the way in which a business operates and the decisions
it makes.

Owners will have a very large influence on business activity. The aims, and possibly objectives,
of the business will be formulated by the owners - they will set the overall direction a business
wishes to take. The influence of the owners on the business, especially small businesses, is
huge. Of all the stakeholders, owners have the greatest say in what
the business does and how it operates. ln most cases the owners will decide on all the big
decisions in the business and the operational activities, such as what to sell, where to sell it,
production decisions, marketing strategies, who to employ (or make redundant) and what
happens to the profit.

Managers will also have some influence on businesses as they will make the day to day
decisions to meet the aims of the owners. Managers will use the resources under their control to
achieve the best outcomes for the business. l\ilanagers will be able to make some decisions,
such as selecting possible employees, what price discounts to give to certain customers,
changing suppliers and where to carry out advertising.

Employees will have little say in the major or important day to day decisions in the business.
They will be employed to carry out certain tasks and instructed what to do by the owners and
managers. However, employees can also influence businesses by communicating their
exDeriences and opinions to owners and managers. The most likely area of influence for
emplovees will be in operational issues, where they may have some say in the way which certain
tasi<s ire carried out. Employees can have a negative influence on a business if

What are the main interests of this
stakeholder?

(Why are they interested in the business?)

Owners and Shareholders

Employees and lvlanagers

Pressure Groups
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they are unhappy in their work or if they are in dispute with the business and this can lead to
industrial action (for example, they could go on strike). lf employees are not working
efficiently then this can affect the performance of the business, such as giving poor customer
service which could reduce sales and profit.

Even though customers are external to the business, they could be considered the most
important stakeholder, as without customers the business will not survive. Happy customers will
continue to buy goods and services from the business, however, unhappy customers will not and
this can have a huge influence on the sales and profit of the business. The power of the
consumer is huge for private sector businesses, ignoring customer views, opinions and
complaints will most certainly end in business failure.

Government influence on business can be vast. The government want businesses to do well
as this creates employment, increases their revenue through taxes and lowers benefit
payments. However, business activity also can increase pollution, traffic congestion and harm
the environment. Governments also need to protect consumers against poor quality goods and
services. Governments can introduce laws and regulations that can affect the way in which a
business can operate. For example, business development can be limited by restricting the
building of factories in certain areas and introducing taxes and fines for businesses that are
producing high levels of industrial waste. The government can also
set quality standards that require businesses to produce goods and services to a certain
standard. These government actions can increase costs for businesses which could result in
lower profits.

Local communities can benefit from business activity, mainly through local jobs, increased local
wealth, improved facilities and infrastructure. However, there are also negative impacts such as
noise and air pollution, environmental damage and loss of space. lf an established large business
that employs many local people closes or decides to relocate to another area, then the impact on
the local community can be disastrous. Local communities can oppose business activity by
creating groups to speak out against business activity that harms their local community. These
activities could affect the reputation of the business and force them to rethink its plans.

Pressure groups will try to influence the activities of businesses through their organised actions.
They will attempt to publicise the negative impacts of business activity in order to rally public
opinion against the business and force them into changing their minds. They can also put
pressure on governments to try and get them involved in order to stop the business from the
proposed action.

You have just heard that a laee mobile phone mast is to be sited in a field close to your
home.

A public meeting is to be held so that all the people in\Dlved can have
their say..You will be divided into groups to rcpresent differcnt :!\
stakeholders to prepare your views on the mast. .==

Which stakeholders need to be represented?

Debate the issue.

:!\

=;lr
11.
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The impact of business aims and objectives on stakeholders and how business decisions may
have contradictory effects on stakeholders

The various aims of businesses can impact on stakeholders in different ways.

For example if a business sets its main aim to maximise profits this could include the reduction of
costs which could mean redundancies and lower wages for employees. Customers may be
charged higher prices and the quality of the product may suffer if cheaper and less quality raw
materials are used. Employees may also have to work longer hours if
a business decides to increase production by keeping the factory open through the night.
Suppliers may have to wait a longer time for payment which could cause problems foi them as
they will still have to pay for their costs. This could also affect the local community, if deliveries of
raw materials are scheduled for late night then the roads will be busy and there will be increased
noise pollution. Governments would be happier if more taxes are paid by the business and they
employ more people to produce the extra goods needed so more is paid in income tax to the
government and they will pay less in unemployment benefit.

Focusing on groMh and increasing market share may affect the profit made by the business.
Owners may receive a low return on their investment as the profit made is reinvested into the
business in order to help it grow. However, customers may have more goods and services to
choose from with extended product ranges and experience an improvement in customer services.

A business that aims to improve its ethical or environmental poiicies may be good news for
society, local communities and low paid workers, but this may come at a cost by changing the
goods and services for customers and again affecting the profit made by the owners.

Employees can be affected in many ways by the aims of a business, these impacts can be
positive and negative, higher wages, promotion oppodunities and developing work skills may all
result from a business expanding and using more advanced technology, however, employees
may also face job cuts, more unsociable hours of work and less enjoyable jobs all in the name of
business progress and expansion.

As the examples above show, these decisions can affect stakeholders in conflicting ways,
what is good for one stakeholder may be bad for another.

Explain the likely impact of the following business aims on stakeholders:

. Jenny Hughes owns a small business selling children's, clothes. She wants to increase the
number of customers she has and wants to start selling other goods such as prams, cols and
children's fumiture.. Diamond Plastics manufacture and sell plastic containers to other businesses that sell
packed foodstuffs. They are concemed about the pollution the factory produces and wish
to reduce this.. The Pines Hotel is owned by Richard Jones, for the last two years the hotel has made a loss.
He is determined to tum the business around and make a profit within the next few years.
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Ragbags Ltd makes and sells children's clothes in the north of England. The managers want to
increase sales in the south, by opening several new stores. But some shareholders are worried
that the new investment will affect pmfitability. Some managers will have to oversee the new
stores. They will need to buy much more material to make theclothes.

What affect will the expansion have on the following stakeholders?

. The government

. Shareholders

. Managers

. Customers

. Suppliers

. The localcommunity

. Employees

1. DirectoB and managers will wantthe business to maximise profit. Howwill thisaffect
customers?

2 Pressure groups may be concerned with how business activities affect the environment.
How will this affect shareholders?

3 The local community will be concerned with traffic congestion. How will thisaffect
managers?

4 Explain how the interests of the owners of a business may conflict with the employees.
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Businesses in the private sector range from those which are owned and run by one person to
multinationals which employ thousands of people in many countries.

They differ in ownership and control and their legal status.

Businesses are classified in the following way:

Sole Traders Partnerships Private Limited
Companies

Unlimited liability business

Public Limited

Limited liability business

Compapies

One of the biggest decisions to make when starting a business is what type of ownership to
use. One of the most important considerations is whether to have limited or unlimited
liability. Choosing the appropriate ownership for the business is very important and can save the
entrepreneurs' personal assets from business creditors (people you owe money to).

Unlimited Liability

Sole traders and partnerships do not have a separate legal existence from the business. ln the
eyes of the law, the business and the owner(s) are the same.

As a result, the owners are personally liable for the business' debts. lf a sole trader or
partnership makes a loss and if things go wrong then they are responsible for all the debts.

This is called unlimited liability.The owner(s) have a legalobligation to settle (pay off) all the debts
of the business. Worse still-there is no distinction between the assets (money invested in the
business, including property, equipment and stock) and debts of the business and the personal
assets and debts of the owner. For example, if your business can't repay its loans or gets sued,
the owner is responsible. lf the business' assets aren't enough to cover the debt or damages then
the owner will have to pay the rest of the debts from personal bank accounts, investments, car or
even their home.

Limited Liability

Private limited companies and public limited companies are so called as their owners have limited
liability, this means that people who invest in the business only risk losing the amount they have
invested.
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lf the company goes out of business, leaving debts, the owners will only lose the money that they
have put into the company (the value of their shares/investment). The owners will not be forced
to sell their own personal possessions, like a house, to pay the company's debts.

For example, if an entrepreneur invested e100 000 into a limited liability company and a
creditor sues the company to recover money it loaned to the company, the creditor can only
get the assets of the company. So, you could lose your €100 000 investmenl, but you couldn't
lose any of your personal assets. Not good news for lhe creditor!

Having limited liability is the main advantage of forming a company.

Limited companies have a separate legal identity from their shareholders, this means that the
company can buy assets, make contracts and take legal action against other businesses in its
own name rather than that of its owners. A limited company can also be sued.
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A sole trader is a business that is owned and run by one person. Although a sole trader is
owned by only one person, the owner can employ people to work for them.

Sole traders usually finance the business lhrough the owner investing their own savings,
money borrowed from friends or family, or a bank loan. There is a lot of financial risk in
running a business as a sole trader due to unlimited liability.

The aims and objectives of sole traders will vary according to the type of business, but most sole
traders will focus on increasing income and profit to allow the owner to make a living from their
investment. Many sole trader businesses will aim to survive in the initial stages of setting up and
during d ifficult economic times.

Many sole traders will operate on a local level; often their main aim is to provide a good
product or service to the local community and provide customer satisfaction.
Running your own business is extremely hard work and the risks are great, but so are the
rewards.

Advantages of Setting up as a sole Trader:

Decision making is straight-forward, the sole trader being able to make instant decisions
without checking with someone else.
The sole trader is their own boss and does not need to follow the instructions of
somebody else.
A sole trader business is easy to set up because there is no complicated paperwork to
complete as thwere may be with other types of business.
Some sole trader may be able to operate the business to suit their lifestyle with more
flexible working hours.
Any profit is kept by the sole trader and does not need to be shared.

Disadvantages of Setting up as a Sole Trader:

It can be difficult to raise the required capital, as only one person is investing in the
business. Banks are not keen to lend money to sole traders due to their high rate of
failure.
A lack of the necessary skills and experience required owning a business can increase
the risk offailure.
Fewer ideas are put into the business as there is only one owner. The sole trader doesn't
have an opportunity to share ideas with any business partneB, family and friends are often
relied upon for advice.
The owner may need to work long hours as there may be no one to share theworkload.
It may be difficult to take time off.
Unlimited liability is the main disadvantage of this type of business, it can be very risky for
the owner - a failing business could cost them their savings and their personal
possessions.
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Disadvantages

There are a range of advantages and disadvantages to soie trader ownership.

Easy to set up Unlimited liability

Greater owner control Long working hours

Keep all the profit Problems in raising capital

Flexibility of working hours Lack of specialisation

Easy to run lmpact of illness

One very important disadvantage of being a sole trader is unlimited liability. lf the sole trader
makes a loss and if things go wrong then the sole trader is responsible for all the debts.

The sole trader has a legal obligation to settle (pay off) all the debts of the business.

For example: Thomas Williams set up as a plumber last year. He bought a van, tools and spent
money on producing leaflets to advertise his new venture. He got a loan from the bank for e20
000 to pay for all of this. During the year he has not done very well and he has not been able to
pay his monthly repayments to the bank. They have now called in the loan as they think he is
going bankrupt. Wilh the interest Ior the loan he owes €23 500, but has no money himself to pay
for this.

Because he is a sole trader he is legally responsible for all the debt so he must pay it all back.
He sells his van and tools and this raises 112 000, so he still owes 111 500. He has to pay for
this so he has to sell his own car and the electrical equipment in his house and his wife's
jewellery.
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Discuss in your class each of the advantages and disadvantages listed below. Show your
understanding by explaining each point.

Jayne Davies is a sole trader, she runs an Arl Gallery in York. She has invested €50 000 into
her business. She has unlimited liability. What does this mean?
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Sole traders have limited liability

Agree

D*"Sr*

Sole trader businesses are easy to set up

Agree

Disagree

Agree
Sole traders are required by law to publish

their accounts Dla"g*"

Agree
Sole traders are responsible for all business

debts incuned O""gr""

Agree
Sole traders keep all the profit made by their

business Disagree

Agree

Sole traders often work extremely long hours 
D""S*"

Sole traders have unlimited liability

Agree

Di""Sr*

Sole Trader: Agree or Disagree?

Tick the relevant boxes to show whether you agree or disagree with the following
statements.

Some have developed their hobby into businesses; selling at craft fairs and through the
internet. One such person is Fran Blake who operates her business as a sole trader.

1. Outline two benefits Fran gains as a result of operating as a soletrader.

2 Explain tvvo disadvantages to Fran of operating as a soletrader.
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A partnership is an agreement betvveen two or more people to takejoint responsibility for the
running of a business, to share the profits and to share the risks. By law a business can have
between 2 and 20 partners. Typical partnership businesses include professionals such as
solicilors, accountants, doctors and vets.

There is a lot of financial risk in running a business as a partnership due to unlimited liability. The
business is not a separate legal entity and the partners are personally liable for the business
debts.

A partnership is almost as easy to set up as a sole trader; if no formal agreement is drawn
up eveMhing is split equally between the partners.

A partnership means;

Shared ownership
Shared decision making
Shared workload Shared

profit
Shared liability for debts

It is advisable for partners to draw up a special agreement, called the Deed of Partnership
which will outline the following:

. How profits or losses will be shared amongst the partners.

. How much money each partner invests.

. Voting rights and the number of votes each partner has.

. Arrangements for ending the partnership due to the leaving or death of a partner.

' The details of each partne/s duties and responsibilities - who does what?

It is important to know who you are going into business with. Pa(ners should know each
othe/s background, their approach to business, and lheir vision for the partnership.

Some questions to consider before going into a partnership include:

. Only go into business with those you trust

. Discuss potential issues before you start

. Read and understand the Deed of Partnership

The aims and objectives of partnership businesses will vary according to the type of business.
However, most partnerships will focus on increasing income and profit to allow the partners to
make a living from their investment.

l\,lany partnership businesses will aim to survive in the initial stages of setting up and during
difficult economic times.
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Advantages of Partnerships:

. Partnership are cheap and easy to set up.

' There is no complicated papeMork to complete in orderto set up thebusiness.
. Extra capital is available, as more than one person is investing into thebusiness.
. The workload is shared between the partners.
. There is less stress for the owners as decisions and workload are shared.
. Each owner will bring their own skills and ideas to the business, meaning. that more expe(ise is available within the business. Partner can specialise in particuiar

areas of the business.

Disadvantages of Parlnerships:

. Profits must be shared among partners.

. There may be disagreements between partners when making decisions or over
workload.. Partners have to share the control, and work asateam, they will not be their ownboss.

. Partners still have unlimited liability.

. lf a partner dies or becomes bankrupt, the partnership must come to and end.

There are a range of advantages and disadvantages of partnership ownership.

Easy to set up Unlimited liability

Shared responsibility for debt Disagreements between partners

Shared responsibility for workload Shared profits

lncreased contribution of capital Workload distribution

lncreased expertise and skills Need for a Deed of Partnership
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Rhiannon was told by her business adviser to draw up a Deed of Partnership. She has
typed up the first draft which is shown below.

rt*t"ffo"tn*tio
Between

Rhiannon Leigh and
Siobhan Evans and

Ricky Rogers

The name of the business will be: Rhiannon Leigh and Partners
The buslness will: manufacture, market and sell sports clothes made from the fabric
designed by Rhiannon Leigh.
Each Partner agrees to provide the sum of: €10 000 to be used to buy an industrial
sewing machine, a stock of material and pay the rent on commercial premises.
The duties of the partners will be as follows:
Rhiannon Leigh will design, develop and market the fabric and the clothes made with it
Siobhan Evans will organise the workforce, deal with stock and be in charge of production
Ricky Rogers willdealwith enquiries, orders, accounts, banking and allfinancial matters. The
bank account will be in the name of: Rhiannon Leigh and Partners. The signature of any
partner is valid on a cheque.
Voting: Each partner will have equal voting rights.
Wages: Partners will each be entitled to draw wages from lhe partnership, as decided by a
partners meeting
Meetings: The partners will meet formally on the first day of each month or the next
working day if this is a holiday.
Leaving the partnership: Partners agree to clear all outstanding debts and obligations
should they decide to leave the partnership.

Signed:
Witnessed:

1. Why do you think she was advised to draw this up?

2 What important factors has she left out?

3 What problems do you think the partnership might have if this deed was used?
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Which two of the following apply to partnerships?

Tick two boxes only

They are orvned by
shareholders Workload distribution

lncreased expertise and
skills

Need for a Deed of
Partnership

Gallops is a business selling horse riding equipment in a small shop in a town. lt is owned by
Sam Fudge and Mary Matthews.

Suggest and explain two advantages to Sam and Mary of being in a business partnership.

1. List 3 advantages of being a sole trader rather than a partnership.

2 List 3 advantages of being a partnership rather than a soletrader.

Jed Thomas is a sole trader selling surfing equipment in his shop in Newquay in Comwall.

1. Suggest and explain two advantages of Jed being a soletrader.

Surfinq has increased in popularity in the area so Jed wants to take the opportunity to buy the
shop next to his. To do this, he needs to bonow money from the bank. Jed's bank has asked
him for a business plan before they will lend him the money.

2 Apart from his personal details, telephone number and address, suggest three pieces of
information the bank would like to see in Jed's business plan.

Jed is considering changing the form of ownership of his business from a sole trader to a
partnership.

3 Discuss the advantages and disadvantages that may result from forming a partnership.
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Sole traders and partnerships who wish to expand are often held back by a lack of capital.
Another drawback is that they both have unlimited liability, which means that taking risks on
new developments, new products or a new premises can result in personal loss and
bankruptcy. A solution to the problem of lack of capital and to the risk that is associated with
unlimited liability is to form a limited liability company.

Limited companies are owned by shareholders, these are people who have invested money in
order to buy a share of the business. The more shares a shareholder owns, the more control he or
she will have within the business.

The words private and public refer to the types of shareholders that own the company. They are
called limited companies because they have limited liability. This means that people who invest in
the business only risk losing the amount they invested.

Limited liability is important for the owners of companies. lf the company goes out of business
leaving debts they will only lose the money that they have put into the company (the value of their
shares). They will not be forced to sell off their own personal possessions, like a house, to pay off
the company's debts.

Having lmited liabilily is the main advantage of forming a company

Remember the example of Thomas Williams who wanted to set up as a sole trader. What if we
change a few details?

Thomas Williams set up as a plumber last year as a limited company. He bought a van, tools
and spent money on producing leaflets to advertise his new venture. He invested e20 000 of his
own money to pay for all of this. Over the next two years he has tried to build up his business,
unfortunately he has not done very well and by the end of the second year he has had to stop
trading, the business owes e33 000.

1. lf Thomas was a sole trader what would happen to the debts?

2 Because he set up as a limited company what happens to the debts?

3 How much money will he lose?

Underline the definition which best describes the term limited liability.

. The company is limited to the number of shareholders it has.

. The company must sell its shares on the stockexchange.

. The owners do not have to sell personal possessions if the business fails.

A limited company has separate legal identity in law from its shareholders. So legally a company
has the same rights and responsibilities as an individual. A company can buy assets, make
contracts, sue other companies and individuals and can be sued itself.
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For example:

lf you were shopping in a local corner shop that was a sole trader and you fell over some boxes
that were left on the floor then you would sue the sole trader personally as he/she is the
business (in the eyes ofthe law they are one person).

However, if you fell over some boxes left in Tesco's (a limited company) then you will sue the
company itself and not any individuals who work for them, the company will have to pay any
compensation from its profit.

By law, all limited companies must register with the Registrar Of Companies at Companies
House. They must produce a number of legal documents about the business. All limited
companies must hold Annual General Meetings (AGMs) and produce an annual report and
accounts for shareholders, to keep them informed of the company's performance.

This separate legal identity is referred to as lncorporation. lf a business is incorporated
then it means it is a limited company.

Limited companies are owned by shareholders. These are the people who own shares in the
company. Shares are the parts into which the value of the business is divided.

The more shares that are owned, the more control the shareholders get.

The reason why limited companies are split into private and public is because of the people who
are able to buy shares in the business:

A Private limitedlompany can
only sell shares privately (hence
the name), usually to family and

friends. Shares can only be sold if
all the shareholders agree.

A Public limited company can sell
shares to anyone, they can be
bought by any member of the

public (the name!). They are sold
publicly on the stock exchange.
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lf a business is valued at €'100 million and there are 200 million shares, how much would
each share would be worth?
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Private limited companies (Ltds) are usually smallto medium size businesses, although some
large businesses are private limited companies. A private limited company is owned by
shareholders approved by the other owners, they are sometimes family businesses.

The profits of a private limited company are sometimes paid to the shareholders in the form
of dividends, but are sometimes reinvested back into the business.

The main aims of a private limited company will be to increase income and maximise its profit in
order for the shareholders to receive a good return on their investment. Many private limited
companies will also aim to achieve groMh by expanding their business and opening more outlets,
producing a wider range of producls or employing more staff. GroMh sometimes leads to the
business "going public" and becoming a public limited company.

Advantages of private limited companies;

. The owners have limited liability.

. Additional capital can be easily raised by selling moreshares.

. The company can keep trading even if a shareholder dies, shareholder's shares can be
transfened to someone else.. The private limited company has its own legal status, separate from the shareholders, it can
sue and be sued. A private limited company can also own property.

' Private limited companies are relatively cheap to set up in comparison with Plcs.. Private companies cannot be taken over, as shareholders must agree the sale of shares to
others.

' Private limited companies are usually run by the major shareholders and so there are few
arguments regarding the aims of the business

Disadvantages of private limited companies:

. They are more expensive to set up than sole traders orpartnerships.. The company has to publish its accounts every year. These are available for the general
public and competitors to see.. There is separation of ownership and control, directors are elected to run the business,
which means that the owners no longer make all the decisions.

.ltmaybedifficulttoraiseadditionalfinanceasitcanbedifficulttofindsuitablenew
shareholders, or banks may not be keen on lending money to smaller businesses.
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A public limited company (Plc) is usually a very big business with a large number of employees,
this type of business is owned by members of the general public and other businesses who
have invested their money into the company by buying shares on the stock exchange. People
buy shares in the hope that the business will perform well, leading to an increase in the value of
their shares.

As with private limited companies, the profits of this type of business are sometimes paid to the
shareholders in the form of dividends and are sometimes reinvested back into the business.

To become a public limited company the t usiness must issue at least €50 000 of shares and the
procedure for setting up a public limited company is more complicated than that for a private
limited company.

The main aims of a public limited company will be to increase and maximise its profit in order
for the shareholders to receive a good return on their investment.

Many public limited companies will also aim to achieve growth by expanding their business
and opening more outlets, producing a wider range of products or employing more staff.

l\4any public limited companies will also have ethical and environmental aims.

Use the intemet to help answer the following questions:

1. What is a share?

2 What is the stock market?

3 What is the UK's stock exchange called?

4 What is the FTSE?

5 what makes share prices go up ordown?
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The share game

You have E1 000 to invest in public limited companies.

Use the intemet or a newspaper to see \ rhat shares are available and how much they cost.

invest in - you will need to
Lnt to buy. You cannot spend more than
Hand this sheet into your teacher.

After at least 4 weeks (make I return your sheet and find out
the value of the shares and calcul te the share value. Then calculate the profit or loss made on
each share and add all this up to see the overall profit and loss. The student who has made the
biggest profit is the winner.

Company Value of 1 Quantity
Name Share at Bought

the Start

Total Value of 1 Total
Value of Share at Value of
shares at the End shares at

Profit or
Loss
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Advantages of public limited companies;

. Similar to private limited companies, Plcs have imited iiability, this means that
shareholders personal assets are protected and they only risk losing the money they
have invested in the business in the forrn of shares.. Additional capital can be easily raised by a Plc; more shares can be sold as there isno

upper limit to the number of shareholders. This makes it easier to grow and expand.. Public limited companies are usually well-known organisations with a good reputation that
makes it easier for them to raise finance. Banks are more willing to lend to large,
established companies.. A public limited company can keep trading even if a shareholder dies, shareholder's
shares can be transferred to someone else.. A public limited company has its own legal status, separate from the shareholders, it can sue
and be sued, and it can own property.. A public limited company can take advantage of its size to benefit from economies of
scale (find out about this later).

Disadvantages of public limited companies:

. lt is expensive to set up a Plc, at least f50 000 of share capital has to be available and
legal paperwork needs to be produced.. The company has to publish its accounts every year, and these are available for the
general public and competitors to see.. Unwanted takeovers are possible as shares can be bought by anyone;the

. shareholder who owns more than half the shares controls the business.

. There is separation ofownership and control as directors are e ected to run the
business, this means that the owners no longer make all the decisions

1. Describe the main differences between a private limited company and a public limited
company.

2 Why might an owner choose to form a private limited company rather than a
partnershiP?

3 Tenindi Ltd produces games played on computers. They sell these games on discs. Each
disc sells in the shops for e40. As the business has grown, the directors of Tenindi Ltd
need to decide whether or not to tum the company into a public limited company. Advise
the directors on what they should do. Give reasons for youradvice.
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A co-operative is an organisation that is owned and controlled by a group of people who have an
equal say in the running of the business, and receive a share of any profits the business makes.
The share they receive is called a dividend.

The owners of a co-operative are known as members, all members invest in and run the
business in a democratic way and will have similar needs so they operate the business for
their mutual benefit.

Co-operalives are the original people's business - set up by the people for the people.

Co-operatives are run accoding to a set of values and principles:

. Self-help & self-responsibility

. Democracy

. Equality & fairness

. Social responsibility & solidarity

. Honesly & openness

The key values of all co-operatives are:

. Membership is open and voluntary - anyone can join

. Members are always in control - no matter how many shares a member has, they only get
a single vote at society meetings. Members contribute to capital and decide how to spend it. They are committed to education and training of their members and employees. They are committed to promoting the development of communities

. Profits are passed on to the membersfairly.

There are a few types of co-operatives, the main ones are:

. Consumerco-operative

. Worker co-operative.

A consumer co-operative is where a group of local consumers get together for mutual benefit.
They buy produce together and sell it for a fair price. The co-operative is owned and managed
by members, who are also customers.

Consumer co-operatives have 3 main principles:

. Each member has only one vote, regardless of the shares theyhave.. Anyone may buy a share and become a member, regardless of race, creed or religion.. Goods and seNices are sold at reasonable prices. After business cosls have beenpaid,
the profits are returned to members in the proportion that they have spent.

75



GCSE Business' Business

EliglJJ-sMel&I:&ltEull.I:i leEli

The Co-operative Group is the one of the largest consumer co-operative organisations in the
world. lt is owned by its members, comprising of other Co-ops who use the services it
provides and individual members, who shop in our stores. The Co-operative Group operates
across numerous business fields - including retail, travel, funerals, insurance and banking.

The following information is from: httpsr/www.co-operative.coop/aboulus/our-co-op

Why we're Different.

We're one of the world's largest consumer co-operatives, owned by
millions of membeB. We're the UK's fifth biggest food retailer with
more than 2,500 local, convenience and medium-sized stores.

We're alsol
. the UK's number 1 funeral services provider
. a major general insurer
. a growing legal services business

And, we have a minority shareholding in The Co-operative Bank.

As well as having clear financial and operational objectives and employing nearly 70,000
people, we're a recognised leader for our social goals and community-led programmes. We
exisl lo meet members' needs and stand up for the things they believe in.
So, the more successful we are, the more we can give back to you and your local
community.

That's why we're different.

Visit the co-operative website and answer the following questions;

1. Explain, with examples howthe group has helped the community in recentyears.

2 What is responsible retailing? Explain how the Co-op has contributed to this.

3 What are the benefits of being a member of the Co-operative Group?

4 Would you like to bemme a member? Explain youranswer.

A worker cooperative is a business that is owned and controlled by the whole workforce. People
who work within the business are in control rather than outside shareholders and it is the most
democratic type of business; everybody plays a part in the decision-making process.

There are around 1 500 worker co-operatives in the UK most of them are small, with only a dozen
or so members. Worker co-operatives may involve workers buying out the business for which they
currently work as an employee, or workers may form a cooperative to start their own business with
the aim of sharing all risks, profits, decisions etc.

Worker co-operatives give a great deal ofjob satisfaction because the members are working
for themselves 76

P-,,ll



A disadvantage as that as everybody has a
difficult to make key decisions.

GCSE Business. Business

say in the running of the business, it is sometimes
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The following infomation is from: http://www.suma.coop/abouvcooperation/

Co-operation

We don't really like to blow our own trumpet here at Suma, but we do like to think that
being a workers' co-operative is one of the fundamental keys to our success.

So what's it all about? Unlike most UK companies, Suma operates a lruly democratic system of
management that isn't bound by the conventional notions of hierarchy that often hinder progress
and stand in the way of fairness.

While we do use an elected i,lanagement Committee to implement decisions and business
plans, the decisions themselves are made at regular General Meetings with the mnsent
of every co-operative member - there's no chief executive, no managing director and no
mmpany chairman.

ln practice, this means that our day-to-day work is canied out by self-managing teams of
employees who are all paid the same wage, and who all enjoy an equal voice and an equal
stake in the success of the business.

Another key feature of our struclure and working practice is multi-skilling. At Suma we
encourage members to get involved in more than one area of business, so individuals will
always perform more than one role within the co-operative. This helps to broaden our skills base
and give every member an invaluable insight into the bigger picture. lt also helps us
to play to each membe/s various different strengths while enabling us to think 'outside the box'
when it comes to creativity and problem solving. And as forjob satisfaction and staff morale -
just ask yourself when was the last time you heard someone complain that theirjob involved
too much variety? lt is the spice of life, after all.

This all sounds great, but does it work? ln a word, yes. Here in the UK we're often sceptical
about workers' co-operatives, but that's largely because of our more conventional business
culture and the fact that the vast majority of UK companies are purely profit-driven.
Workers' co-operatives are far more common in many advanced European countries and
developing wodd economies. Of course it's not all plain sailing, but if you look at Suma's growth
over its 3o-year history, we think you'll agree that we must be doing something right.

1. What is meant by a truly democratic system ofmanagement?

2 Why do you think Suma use an e/ected Management Committee?

3 What are the benefits of wo*ing for Suma?
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Advantages of co-operatives

. The members feel that they have a real impact in the running of the business.

. Co-operatives often focus less on profit which leads to better customer service and an
emphasis on ethical business practices.

. Profits are distributed fairiy among the members.

. Members enjoy working together and get great job satisfaction from working for
themselves and their colleagues; they are therefore more likely to be motivated to
succeed.

. There is less likelihood of arguments as members share the same aims and obiectives.

. Membsrs are more likely to be aware of their responsibilities to the local and larger
crmmunilies.

. Cooperatives are mmmitted to the training and education of their employees.

. The initial investment required in buying shares and becoming a member is less than other
wEys of starting a business (sometimes iust a pound).

Disadvantages of co-operatives

. Decision making can be difflcult and may take a long time as everybody has a say

. in the running of the business.

. All members have an equal right to speak and contribute to the decision-making pocess
- even if they have little knowledge ofthe subiect being discussed.

. lt may be hard for members to make tough decisions that will affecl their co-workers,
such as rob cuts.

. A cooperative's focus on faimess and ethical business practice may limit opportunities
for groMh and maximising pofit.

. Workers in worker co-operatives may find intemal promotion or career moves difficult.

. Co-operatives may find it dimcuft to recruit top quality management, the most able
candidates usually demand a very high salary.

Taxpayers
Customers tl
The Govemment D

tr
2 What is the term for the share of the profrts of co-operatives? Tick one boxonly

Dividend
lnterest
Shareholding E

U3 Co-operatives caErever be as successful as a limited company. Do you agree with this
statement? Explain \rour answer.
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Charities are organisations that aim to raise money in order to support a cause, such as
cancer research or wiping out poverty in third world countries. Charities will focus on
minimising costs and organising fundraising activities to maximise donations.

A charitable organisation is a type of non-profit organisation. Their main income is from
donations, though they will also raise money through holding events, providing services and
selling products.

l\,4any charities employ paid workers to undertake specialist work, but also rely on volunteers in
order to minimise wage costs.

Charities include voluntary organisations that provide a service to society. There are many
voluntary organisations in the UK, examples include animal welfare groups, Girl Guides,
Scouts and the RNLI. Voluntary organisations do not aim lo make a profit, but to cover the
costs of running activities. All surplus funds are reinvested into the organisation

Charities will often receive donations from for-profit businesses.

Charities are set up to support a number of different causes, these include:

. the prevention or relief of poverty

. the advancement of human rights, equity and diversity, education, religion, health,
community suppo(, arts, heritage and culture, sport participation, animalwelfare and
environmental issues.

l\.4ost Charities that have an income of more than 15 000 must register with the Charity
Commission for England and Wales. Charities can receive tax relief and exemptions (they
don't pay a tax on their profits the same way a private business will).

The top ten charities in the UK (ranked by their income) in 2015 was:

1 Cancer Research UK f446.5m raised out of a total income of f634.9m

2 British Heart Foundation e263.8m raised out of a total income of 1288 2m

3 Macmillan Cancer Support f214.1m raised out of a total income of 8218 4m

4 Oxfam

5 Sightsavers

6 RNLI

7 British Red Cross

8 Salvation Army

I Save the Children

1O NSPCC

!192.8m raised out of a total income of e40'1.4m

e184.7m raised out of a total income of !199.7m

8170.9m raised out of a total incomeoff190.1m

€139.1m raised out of a total income of 8261 .8m

1130m raised out of a total income of e196.3m

8125.3m raised out of a total income ofe370.3m

e1 15.3 raised out of a total income of f125.9m
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Owners of a business will have to decide on the most appropriate business structure for the
business and may choose to operate as a sole lrader, a partnership or a limited company. The
most appropriate structure for a business will depend on a number of factors.

The size of a business will have an impact on how the business is run; larger businesses may
have different aims and objectives to a small local business.

Some business owners may benefit from working alone as a sole trader, while others would
require the support and skills of other owners and investors. Some businesses may require large
levels of investment, best achieved by selling shares on the stock exchange as a public limited
company. Some businesses do not require large investment and are more suited to being run as
small sole trader businesses.

Sole trader businesses tend to be easier to set up, requiring very little paperwork, whereas for a
partnership to run smoothly it is recommended that a Deed of Partnership is drawn up to protect
the interests of the individual partners.

A sole trader business has unlimited liability which is quite risky for its owner. lf the business
cannot pay all its debts, then the owner risks losing personal possessions to repay the debt.
Therefore, some businesses choose lo set up as a limited company in order to receive the
protection offered to them by limited liability it protects the owners from losing any more money
than they have invested in the business.

What happens to the pmfits is important. Sole traders are able to keep all the profit made by
their business for themselves, whereas partners will need to share any profits made and public
limited companies may need to pay dividends to its shareholders.

The management of a business will differ depending on the business structure. The owners of
smaller businesses like sole traders and partnerships tend to adopt a hands-on approach to
running a business and are heavily involved in decision-making. Within public limited companies
there is a division of ownership and control - shareholders elect directors to run a Plc on their
behalf. Shareholders have very little involvement in managing and running the business on a
day-to-day basis.

As businesses grow the owners may want to change the type of ownership they have,
generally this means:

Sole TraderI
Partnership

v
Private Limited Companyt
Public Limited Company

Businesses change their type of ownership to gain the advantages of the next level.

However, some businesses stay at one level of ownership due to the disadvantages of the
next level.
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Public Limited Company

Private Limited Company

Partnership

Sole Trader

B1

Comparison of different business structures

Complete the tables below to explain and compare each of the 4 business structures.

You will need to expand the rows in order to explain the features of each structure.

Business Structure Main Advantages Main Disadvantages
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Sole Trader Private limited
company

What aims and
objectives might

this type of
business set?

Describe how
this type of
business is

formed.

Explain the
ownership ofthis
type of business

Describe the
management
and control of

this type of
business.

ldentify the
liability of this

type of business.

What is the usual
size of this type of

business?

What are the
main sources of
fanance available

to this type of
business?

How are profits

distributed?
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Hannah and Matthew have decided to start a small business producing and sell
picture frames. They wish to sell these in a retail shop and online. They have co

Write an extended answer (at least 30 lines) to discuss the advantages and disadvantages of
each type of ownership and recommend the most appropriate structure for their business.
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Nearly all businesses started as small businesses - usually as sole traders or partnerships.
Think of how each of the following started:

. Marks and Spencer - a ma*et stall in Leeds

. Boots - a chemist shop in Nottingham

. Tesco - a markel stall in London

. Virgin - a record shop in London

. Facebook - a social network at Harvard University, USA

. Microsoft - 2 computer "geeks" in the USA

Over time these businesses grew to become the very large-scale businesses that they are
today.

They have enormous sales, revenues and profits resulting from enormous capital, marketing
budgets and workforces. The business environment is competitive and dynamic, as a result
failure to grow could result in business failure as competitors will grow and impact on the
business. Standing still in the business world is not a good strategy.

To increase profits

Bigger businesses make larger profits. The owners of small businesses want to earn more to
improve their own lifestyles. Think of some of the owners of the businesses mentioned above,
they are now very rich themselves. Larger businesses will grow to provide better returns on
inveslment for shareholders.

To improve market share

Market share is the proportion of the market that you mntrol. For example, Tesco controls about
28% of the market of goods sold in supermarkets. Sainsbury's was once the market leader but at
one stage the owners and managers of Tesco wanted to grow faster to overtake Sainsbury and
take their place as the market leader.This can lead to increased profits.

To reduce competition

As some businesses grow their competitors are unable to keep up, in terms of the goods
supplied or the price charged, and so they drop out of the market. Think of how the number of
specialist greengrocers and butchers has fallen with the groMh of supermarkets. This will lead
lo increased market dominance for the business that grows, with larger sales and profits.

To secure the market

Strength in the market means that as businesses become bigger they become better known and
are more likely to keep their customers. Their reputation is all-important.
To Secure Supplies
Bigger businesses are also likely to have the trust of their suppliers and so they will always
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have goods to sell or materials to produce, Large companies can even conlrol the suppliers by
determining the prices they pay for goods, owning the sources of materials or by having goods
made for them (own brand goods).

To spread risks

Bigger businesses can operate in a number of markets in terms of where they sell or what they
produce. A fall in sales in one market can be offset by continued sales in another. This is called
diversification. For example, a manufacturer of garden furniture expands into manufacturing
bicycles, or a hotel chain buying a chain of clothes shops. This can be a risky method of groMh
as the business is likely to have limited knowledge of the new market.

To benefit from internal economies of scale

The more a business produces or sells, the less it costs to produce or sell each good. This
means that a business has lower unit costs because of its large size. They can buy raw
materials cheaply in bulk and also spread the high cost of marketing campaigns and
overheads across larger sales. Reduced unit costs can charge lower prices and/or increase profit
margins. For example, a large business can produce a pair of shoes for 118 while it will cost a
smaller competitor f30, this will give the larger business a €12 unit cost advantage.
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As businesses grow they have higher costs, but these costs can be spread over a large number
of goods produced. lt is said that the unit cost is lower, this comes aboul because of economies
of scale. As the cost of producing each unit falls as output increases, the average cost of
producing the unit falls. For example:

ln 20'12 a business produced 'l 000 bars of soap, the total cost for poducing the soap was
!500 so the unit cosl for each bar of soap was 50p. The soap was sold to shops for 75p each so
the total revenue was !750 giving a profit of e250. The profit margin on each bar of soap was 25p.

By 2016 the business had invested ln new equipment and employed more workers. ll now
produced 10 000 bars of soap with total costs of !3 000 so the unit cost for each bar of soap is
now 30p. The soap is still sold to shops for 75p so the total revenue is now f7 500, resulting in a
proft of e4 500 and the profit margin on each bar of soap is 45p.

Economies of scale are a major source of mmpetitive advantage for large businesses.

Economies of scale can be defined as:

The reduction in average costs of production that occur as a business increases its scale of
production.

There are different types of internal economies of scale that are achieved as a result of
increasing intemal efficiencies of the business:

. Purchasing

.l\ilarketing

. Technical

. Financial

. Administrative/Managerial.

As businesses grow they can increase the size of orders for raw materials, component pa(s or
stock. This may then result in discounts being given and the cost of each unit purchased will fall.
This is also referred to as bulk buying. This is the reason why large supermarkets
or large manufacturers of computers can sell their products much cheaper than smaller
businesses. They buy so many products or components from their suppliers, the suppliers need
their business so much that they sell these to the supermarkels and compuler manufacturers at
a much lower price than they sell to other smaller businesses. The supermarkets and computer
manufacturers can then sell these to their customers at lower prices so they achieve high sales
and market share.

B6
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explain how buying in bulk will increase the



As businesses grow each pound they spend on adverlising will have greater benefit for the
business. A small business with 10 stores will pay the same price for advertising as a large
business with 200 stores. The cost of the advertising is spread across the stores, so per store, or
per customer the unit cost of reaching these customers through the advertising is much lower for
the larger business.

Large businesses also have large marketing budgets and can afford to advertise on the television,
to sponsor big events and sports teams. The marketing costs can be spread across all the extra
sales made from this marketing. Small businesses cannot afford to do this but they market
through leaflets and local media, which cost less but are not seen by so many people, and so the
cost per extra customer is higher.

As a business grows it can afford to buy new machinery and equipment and carry out new ways of
production. This can result in increased efficiency, making more products at lower unit costs.
Large superma*ets have the latest technology to use for stock control, security syslems and
checkouts; a smaller business is unable to afford this. ln manufacturing, large car producers, such
as Toyota and Ford can invest in robotics and computers that design cars, once again resulting in
reduced costs and lower prices forcustomers.

As a business grows it will have access to a wider range of finance. lf a business is looking for
extra finance to borrow, larger businesses are more'credit worthy'with banks and other possible
investors, often obtaining finance at lower rates of borrowing. Smaller businesses often have to
pay high rates of interest as they are considered more risky.

Large businesses can afford to employ specialists such as accountants, marketing, human
resources departments, lawyers, production workers and so on. This means high wages and
salary costs, but these can be spread over the large number of goods produced so that the cost
added for each of these workers is small. This will increase efficiency and reduce the average
costs of producing goods. ln smaller businesses tasks tend to be carried out by the owners, or
services may be bought in at high cost when needed.

Large businesses can also use division of labour. This is when different production processes
are divided into separate tasks which will increase efficiency and productivity (the rate of output
per worker or machine). This is also known as specialisation. By splitting the tasks or
processes, the business is able to produce more output in the same time.

1. Summarise the main reasons why businesses grow.

What is meant by /ower unll cosrs? Give a numericalexample.

Explain how intemal economies of scale benefit large businesses.

Produce a poster to put up in your classroom that outlines the different types of intemal

economies of scale.
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Read the article on Apple and answer the question that follow.

Ad a pte d : https://favblack.wo rd press.
com/?s=apple

The types of economies of scale that Apple
could face are:

Technical economies of scale: due to the
fact that Apple produces so many devices
they can maximise the amount of goods
produced to maximise their economies of
scale and lower average cost per unit.

Apple's size and the fact that most of
Apple's products e.g. iPhone, iPad share the
such as processing chips and display screens at lower prices due to bulk benefiting
from purchasing eConomies of scale. Any company thai wants to make 

-a 
tablet computer th;t

matches the iPad's low starting price of $499 would have to endure higher production costs.matches the iPad's low starting price of
Due to this Apple has 70% of the tablet

would have to endure higher production costs.
Due to this Apple has 70% of the tablet computer market.

Furthermore due to the large amount of products being produced by Apple the research and
development undertaken by the company is essentially free, another example of technical
e@nomies of scale.

Another example of marketing economies of scale that Apple benefits from is the large amount
of advertising the company has; also advertising one product essentially advertises all other
products produced by Apple meaning that the cost of advertising is much lower than it would be
for a smaller business.

Apple can also benefit from financial economies of scale as new competition enters the
market Apple can use their economies of scale to lower the prices of their products that
competition cannot match.

1. ldentify the types of intemal economies of scale Apple experience.

2 Explain how Apple has benefited from intemal economies of scale.

3 What impact has this had on Apple's competitors?
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A business can grow through:

. lnternal (organic) groMh - the business grows by selling more of its products, hiring
more staff and equipment and increasing advertising, promotion and investment.. External groMh (integration) - the business merges with or takes over another business.. Franchising - where a business leases its idea to other businesses (franchisees).

This involves using resources from within the business to expand in steady stages. Organic
groMh takes place when a business expands its own operations. This can be done by:

. Producing more of its current products in existing markets. Producing more of its currenl products in new markets. Developing new products

. lncreasing production capacity (being able to make more products)through investing in new
machinery or moving to new location or site

' lncreasing the number of customers who buy its products through increased advertising and
promotion.

Organic groMh can take a ong time and requires the owners to reinvest profits into the
business, although it can be a relatively inexpensive strategy to use. lt is used by businesses of
all sizes to expand and the decision to grow this way will depend on the aims and objectives of
the business owners.

For many small businesses internal groMh is the only option they have to grow.

Shine Ltd is a medium-sized company that manufactures and sells double glazing windows and
doors to households. lt operates in the north east of England and employs 25 workers in its
factory and I sales representatives who sell the products. lt has built up a good reputation and
makes a good profrt every year. lt now wishes to use its retained protit in order to expand the
business, though the owners are not sure how it should expand. With reference to the points
below suggest ways it could expand and recommend what it should do. Justify your
recommendations.

. Producing more of its current products in existing markets

. Producing more of its cuffent products in newmarkets

. Developing new poducts

. lncreasing production capacity (being able to make more products) through investing in new
machinery or moving to new location or site. lncreasing the number of customers who buy its products through increased advertising and
promotion.
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External groMh involves a business buying orjoining existing businesses, this is also referred to
as integration. There are two ways in which this can be achieved:

. Merger

. Takeover (acquisitions).

The advantages of external growth include:

. Faster groMh

. Speed of access to new products or markets

. lncrease market share and marketpower

. Economies of scale

. Make use of the strengths of each business

. lnvest in fast growing emerging markets.

Mergers and takeovers happen all the time and are used by larger businesses to grow their
businesses quickly.

However there are some disadvantages of external growth:

. The merger or takeover does not always work - it is difficult to make two ditferent
businesses work as one.. A takeover can result in creating a bad feeling between the new workforce, some takeovers
are hostile (where the business being taken over does not want to be) and the takeover can
often result in redundancies.. The cultures of the two businesses maybe very different and it will be very difficultto
agree on the new culture of the business.

Merger Takeover

' Two or more businessesjoin togetherto
form a new business.. The businesses tend to be of similar
size.

One business buys another business by
acquiring control.
This can involve the business buying
the whole business or buying part of a
business.
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Facebook has acquired many small new businesses in recent years; these include
Friendfeed, Onavo, LiveRail and Face.com. They have also acquired lnstagram and
WhatsApp.

Why do you think Facebook has acquired these particular businesses? Search on the
intemet to find out what the acquired businesses do.
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Read the article below and answer the questions that follow:

Ray-Ban Maker Luxottica Agrees 46bn Euro Merger with Essilor
Luxoftica, the world's biggest glasses maker, has agreed a huge merger with a rival eyewear
business.

The ltalian eyewear designer, which owns Ray-
Ban and Oakley, is to merge with French lens
maker Essilor. Combined, the two businesses
will be worth about 46bn euros (E40bn;
$49bn).

Through a series of acquisitions, including of
Ray-Ban in 1999 and Oakley in 2007, the
business has become the world's biggest
spectacles maker. lt also has licensing agreemenl
brands, including Burberry, Dolce & Gabbana and

The business said in 2014 that it had previously explored a deal with Essilor, the world's
biggest maker of prescription lenses, but that conditions were not right at the time.

"The marriage between two key companies in their sectors will bring great benefits to the
market, for employees and mainly for all our consumers," Leonardo Del Vecchio, Luxottica's
executive chairman said in a statement.

1. With reference to the data explain what is meant by a merger.

2 How will the two businesses benefit from the merger?

3 What effect will the merger have on consumers and competitors?

Carry out research to flnd a recent merger or takeover that has taken place. Summarise the
main details of the deal.
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This is when two businesses in the same industry at the same stage of production become one
business. ln other words they make the same product or provide the same service.
Examples include a car manufacturer lakes over another car manufacturer or two hotel
chains merge.

Amazon buying LoveFilm, Costa Cofiee buying Coffee Nation and Volkswagen buying Porsche
are examples of horizontal integration.

Advantages of horizontal integration include:

. Economies of scale. Other cost savings - needing fewer workers, managers and premises
(this is called rationalisation). lncreased markel share

. The new business will be more competitive in the market and reducecompetition

. Buying an already established brand is cheaper than building the brand from the start.

This is when two businesses in the same industry but at different stages of the supply chain
become one business. ln other words it is when a business joins with another business thal
operates at a different stage of production. For example, a shoe manufacturer buys a factory
producing the leather or a chain of shoe-selling shops.

There are two types of vertical integration:

. Forward vertical integration is when a business merges ortakes over acustomer.
For example a manufacturer merges with a retailer or a brewery buying a chain of pubs. This
gives the business greater access to customers and gives the business a greater control of
the supply chain, reducing cosls and improving distribution chains.

. Backward vertical integration is when a business merges or takes over a supplier.
For example a retailer buys a food processing business or a steel producer buying a coal
mine. This gives a business greater control of its supplies which can reduce costs and
improve the quality and delivery of raw materials and components.

This is when two businesses that are unrelated join together. The businesses operate in
different markets and have no connection with each other. This is also known as
diversification.

For example a cinema chain buying a clothes retailer or a drinks manufacturer buys an online
betting website.

The benefits of diversifying into completely unrelated markets include:
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. Spreading business risk, so if the business is experiencing a decline in sales in one market,
the business may be less vulnerable as the continued sales in other markets will help the
business make a profit.

. lt is possible to cross-sell existing producls to newcustomers.

However, conglomerate integration is risky as the business may have no experience of the
new market and may make costly mistakes. The business may also put so much time and
effort into the new business it may have a negative effect on the original business.

o
9.
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Franchising is a popular method of growth for a business. For entrepreneurs who have
developed a successful business, franchising is a way to expand their operations.

The owners of the established business (the franchisor) sell the rights to lheir business logo,
name, and modelto another business (the franchisee).

The franchisee pays startup fees and regular royalty payments to the franchisor and in return will
have the right to use the business name, logos, store design, processes, marketing ideas and
products of the business.

The franchisee must agree to run the business according to the franchisor's guidelines and
purchase stock from the franchisor, to ensure the franchisee upholds the franchisois
standards.

The franchisee will also receive training from the franchisor to help them start the business.

The franchisee is responsible for all debts incurred, and if there are losses then the royalty
payments must still be paid and the losses mvered by the franchisee.

Franchising can benefit the franchisor, as it provides an opportunity to expand without the
need for extra capital the majority of the costs are covered by the franchisee.
Franchising offers the following benefits to businesses looking to expand:

. Low costs compared to other expansion methods - the franchisees pay most ofthe
costs, including the premises and employee wages. The number of outlets and sales for
the business can grow without the need for much capital or needing to request financing
from banks or investors.

. Minimises risk. Franchising can generate high financial returns for relatively little risk. A
franchisor can earn high royalties from sales from franchisees. These proflts can be
greater than what could have been eamed if the business opened and ran the outlets
themselves.

. Motivation offranchisees. Hard working and talented people generally preferto invest in
running a business in retum for profits rather than taking a salary as an employee. The more
successful the franchisee the more profits they create for thefranchisor.

Examples of franchised businesses include some large, well-known names such as Clarks shoes,
The Body Shop, lvlcDonald's and Burger King. There are many smaller, lesser-known franchises
as well, including businesses such as cleaning companies, pet care services and car valeting.

It is important to understand that a franchise is a method of expansion, not actually a type of
business ownership, since a franchise can be operated and owned as a sole trader, a
partnership, or a private limited company.
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There are many examples of successful franchise ventures on the British Franchise
Association's website: www.thebra.org.uk

Visit the website to see what franchises exist.
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For many people, the pospect of staning up a business from scratch - finding a market,
developing a product, risking their life savings - is far too daunting.

Businesses which are started often find it difficult to survive, with over half of small
businesses failing within the lirst 2 years of operation, many within the first 6 months.

ln contrast, less than 1 in 15 franchise outlets actually cease trading in any one year, with I out
of 10 being profitable. So operating as a franchisee involves less risk and using a tested and
successful name, format and product.

Name: Antony Tagliamonti
Company: Domino's Pizza
Tumover: f2 million Staff:
80

When he was just 20-years-old Antony Tagliamonti had
to make the choice between either spending his savings
on a Lotus, or opening his first Oomino's Pizza
franchise. Fortunately, he chose the latter and six years on
has an income easily great enough to satisfy his love offast
cars.

"l have been at Domino's since just before my 16th
birthday, I was working as a driver to begin with and I

got to know a lot of people there.

go from order to delivery."

Tagliamonti remained in the employ of Domino's during his teens and into his 20s, also
completing A levels and holding down a job in the syndication department of the Times
newspaper. He 'didn't sleep much', prefening to work instead - a habit that continues to this
day.

Allthis graft had led to substantial cash savings, the question was, what to spend the
money on?

'A friend of mine, who was running the Woodford Green franchise and was having trouble with
his business partner, suggested that I take over a part of the business.

"l was saving up for a new car at the time - a Lotus. I love fast cars and I desperately wanted a
Lotus Elise. But I just thought: What is more sensible? - A flash car or setting myself up for the
future? ldecided that it made sense to get into the business that I already knew I loved.

"The store was valued at e165,000. As I was buying half a share it cost me abod e82,000

to set up. The flrst €20,000 was out of my own savings the remainder came through a loan
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from the Royal Bank of Scotland.

"l was advised me to do this as the RBS recognise lhe Domino's brand, they know how we
operate and I had a business manager appointed to me."
Tagliamonti's partner soon sold him the remainder of the franchise. At the age of 20 he was
remarkably young for a franchisee. However, he insists that all you really need is the will to
succeed; not to mention a love of hard work.

Without any doubt Antony Tagliamonti is a man prepared to put the hours in:

"l was working 60-65 hours each week, sometimes getting up at 7am and not going to bed
until 1.30 a.m.

"You have to be responsible and be able to handle the different elements of managing and the
demands ofthe business are high. lt is not just a 9-5 you have always got to be on the end of
the phone.

"lt is hard work but if you do it then you will reap the rewards."

Tagliamonti can testify to the high level of support that he receives from his franchisor. He was
young, had never run a business before and had not been to univeBity, having finished
education after his A-levels.

"Domino's gave me a lot of help and the network between franchisees and head office is
brilliant. They are always there at the end of the line with adMce when you need them. They
don't just throw you in at the deep end.

"They will help you right across the board from HR to marketing, it is really useful. You know
you are selling a tried and tested product and that if you follow the plan then you will succeed.

"l meet up with other franchisees on quite a regular basis and there is a great camaraderie
when we do. lt is great to swap ideas and stories and Ilnd out how each other is getting on."

He now runs three franchises employing approximately 80 staff and has sold one franchise that
he was running to another franchisee. The money he has made in the last six years means that
he has owned many cars, Lotus, Porsche, BMW, to name but a few.

Adaptedi startup.co.uk

'1. Who is the franchisee in the case study?

2 Who is the franchisor in the case study?

3 What skills and qualities has Antony used to make his business successful?

4 What support did Dominoes give Antony?

5 What is the benefit to Dominoes of Antony running a successful franchise?

6 Explain why Dominoes have chosen to expand through franchising.
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The franchisee must agree to run the business in the way required by the franchisor. This
means that quality and slandards are maintained.

The franchisor relinquishes direct control of the business by permitting individuals to run retail
outlets in agreed areas under a franchise contract.

The franchisee buys the right to use the established company's name, store design, products,
processes, logos, display units and promotional methods.
The franchisee will also receive training from the franchisor to help them start the business.

The franchisee is responsible for all the debts and must pay a royalty payment to the
franchisor. The royalty payment is calculated on the year's turnover and the franchisee will
keep any further profit. lf there are losses then the royalty must still be paid and the losses are
covered by the franchisee.

ln 2015 the British Franchise Association (BFA) and Natwest Bank carried out research, the
results show the importance of franchising to the UK economy:

Franchise industry annual tumover:
Number of franchisor brands operating in the UK:
Number of franchisee outlets:
Number of people employed in franchising:
Percentage of profitable franchises:

€15.1bn
90'1

44 200
621 000
970/o

This has grown from an industry that 20 years ago had a turnover of just over €5 billion, had 379
different brands and represented 18 300 franchisee outlets. httpJ/www.thebfa.oroiabout-
franchisinq/franchisino-kev-facts

There are both benefits and drawbacks to running a business as a franchise for both the
franchisor and the franchisee.

Advaniages for the franchisor

. The franchisor can expand quickly without the need for a large amount ofcapital.

. The franchisor does not lose control of the business.

. The franchisee has invested their own money and so will be motivated to make the
business succeed.. The franchisor receives fees and royalties from thefranchisee.

. The franchisor does not have a large workforce to manage.

Disadvantages for the franchisor

. The businesses trade name and reputation can be ruined iffranchisees do not maintain
standards.. The initial costs of setting up the franchise system such as training, legaladvice,
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documentation and marketing can be very expensive.
. On-going costs of national adverlising and continual support of franchisees can be

exPensive.

Advantages for the franchisee

. There is a good chance of success and less risk for the franchisee because of the well-
known name, format and product.

. The franchisee benefits from a ready-made reputation because the franchisorcontrols
the quality of all franchises.

. The franchisor provides sound financial advice and support, so that cash lowand
management problems can be avoided.. The franchisor is responsible for costly activities such as market research and product
development.

Oisadvantages for the franchisee

. The franchisee will never feel that the business is theirs - for example the business
cannot be sold without permission from the franchisor.. The franchisee cannot make many decisions, all franchises must be run according to the
rules of the franchisor.. The franchise could be withdrawn at any time without any explanation orcompensation.

. Fees, royalties and expensive stock make franchising a costly way to run a business.

. Royalties must be paid by the franchisee, even if the business makes a loss.

. lffranchises are set up as sole traders or partnerships they stillface unlimited liability.

Sunshine lntemational is a franchise company, established in the UK in 2000. The business
has over 120 branches throughout England, Scotland, Wales and Northem lreland, providing a
wide range of professional cleaning services for homes and business premises. Since 2005 the
business has used franchising to expand its business, this strategy has helped it to grow its
business and it is currently advertising for new franchisees on its website.

Julian Smith wants to set up his own business cleaning offices in Birmingham, though he has
just read the information on the Sunshine lnternational website and is now considering applying
to become a Sunshine lnternational franchisee.

1. Discuss the advantages and disadvantages of Julian becoming a Sunshine lntemational
franchisee and advise him what to do.

2 Discuss the advantages and disadvantages of Sunshine lntemational expanding through
franchising.
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lvlany small businesses either make a decision to stay small scale or are unable to expand. Some
business owners decide not to grow as they are content with the protlt the business gives them;
they don't want the extra pressure and risk that expansion can bring. The aims of these business
owners is to keep the business at the same scale, having similar sales revenue and profit year
after year, enough to keep them in the lifestyle they have chosen.

Expanding a business can also lead to a loss of control and direct contact with their customers,
for example, opening up a new outlet will require employing a new manager, the owner cannot be
in two places at the same time, many small business owners do not want to lose any control of
the business as this is something they might enjoy.

Small business owners that wish to expand may face a number of difficulties:

. Expansion is risky. There's always the chance that any expansion plans can fail and
result in losses rather than profit. Owners are then worse off than before the growth of the
business.

. Market size limitations. Many small businesses provide a personal service in a local
market, the strength of their business is face to face contact they have with local
customers. lt is difficult to scale up these businesses as the initial reasons for success
was the small local market. Also some markets are limited in size, these could include
niche markets (a market that has a small number of specialised products with a small
number of customers) that do not have the potential for growth.

. Availability of investment. ltcan be difficult for small businesses to obtain finance lo allow
them to expand. The profit they make may not be sufficient for organic expansion, the
business may be too small to interest investors such as business angels and banks may not
want to take the risk of lending money to small businesses. Even when banks are willing to
take the risk, the interest rates they charge for the loan may be too high for the business to
afford.

. Difficult to compete with larger businesses. Byexpanding a business will havetoseekto
attract new customers and build its market share. Competing with larger established
businesses, which may have economies of scale, for these customers, will be very difficult.
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When businesses are set up it is very important that they are located in a place which is best for
them i.e. where they can keep costs at their lowest, take in the most money and therefore make
the greatest profit.

Firstly a business needs to consider its geographical location and then the specific site within
the geographical location:

Business location refers to the geographical area of location such as a certain town, city,
region or country.

Siting a business is concerned with the more specific factors within a location such as
accessibility, footfall and size.

A business will consider a number of factors when deciding to locate the business.

For small businesses, the owners will normally locate in the area that they live. However,
larger businesses will consider a number of key factors to decide where they locate either
their whole business or different factories and outlets of the business.
Every business is different so they will have to consider different factors. A small business may
only need to think about a few, whilst other larger businesses may have to consider and balance
a complex mixture of localion factors.

Monsterworld is a theme park located in a sunny
climate on the mast near to a popular seaside town.
There are plenty of hotels and other attractions nearby
and the transpo infrastructure (mads, rail and air
links) are very good.

1. Give three factors that Monsten',/orld mnsidered
when they located their theme park.

2 ln your opinion which factor is the most important
in making Monsterworld a successful business?

Nia and Hannah want to open a restaurant. They are both manied with young children and

live in Cardiff.

Where are they likely to locate their new business?
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. The market

. Materials and raw materials

. Labour supply

. Cost of land

.lnfrastructure

. Governmentassistance

. Other factors such linkages, historical factors and climate

Being close to the market (the customers) is vital for a number of businesses. A retailer, for
example, will sell more products in a busy city than in a rural town or village. There are a
number of industries, in addition to retailing where being near to the market is vital.

For example, in personal services, such as hairdressing or the restaurant trade, location is
important. Banks, travel agents, opticians and dentists also need convenient locations for their
customers.

Which of the following businesses need to be close to their customers?

. Garage

. Manufacturer of tinned foodstuffs

. Supermarket

. Customer support centre

. Bakers of fresh bread and pastries

. Producers of freeze baked products

. Car manufacturer

. Hotel

Some businesses are bulk increasing and these need to be located close to the market. Bulk
increasing means that the good being produced is larger or heavier than the materials belng
used to make it so it is cheaper to locate near customers. Examples of these include
businesses making boxes for packing, baking industries and soft drinks manufacturers.

For soft drink manufacturers the main ingredients are water (around 90%), f avour such as
lemons for lemonade (5ol") and gas (5%). The finished bottles of drink are made in huge
numbers and then distributed to wholesalers and retailers. There will be cheaper transport costs
if these bottles are located near to the market with good road links.
ln recent years the groMh of online shopping (e-commerce) has meant that businesses no
longer have to be close to their market.

Home shopping options are many and varied and are changing all the time. The maior
supermarkets are now online offering home delivery of goods and increasingly the maior high
street stores are competing for trade online. The lnternet lends itself to shops selling goods
which are easily transportable, such as DVDS and books.

Most websites are set up to do this work by:

. having an online catalogue which you can browse

101



GCSE Business. Business

. letting you add items to a virtual basket

. sending you to a virtualcheckout

. arranging delivery.

lncreasingly music, films, games and other digital media are now delivered online in the form
of downloads.

Some businesses need to locate close to where the raw materials, or the components lo
make their products, are available.

This may be close to the source of the materials, such as mines, quarries, forests, factories etc.
or where the business can obtain easy access to materials by being close to ports, major roads
and rail links.

ln some industries, like the steel industry, costs of transporting raw materials are high. Large
quantities of bulky raw materials, such as coal and iron ore are needed to make steel. So steel
producers need to be located where the cost of transport of raw materials is lowest.
ln the past in the UK, this has meant that steel works have been built next to coal mines and iron
mines. However, the UK's iron ore deposits are now exhausted, so a steel producer today buys
from abroad. lts plants are now located on the coast, where the iron ore is delivered in large ships
to reduce transport costs.

These businesses operate in bulk reducing industries. This means that the product being
produced is lighter, or less bulky, than the raw malerials needed to make it. lt takes 5 tonnes of
materials to produce 'l tonne of steel; Limestone (1/2 tonne) Coal (1'li2 tonnes) lron ore (3
tonnes).

Other businesses which tend to be located close to the source of raw materials include those
dealing with perishable goods, such as fish canning and vegetable freezing.

Today, in the UK, there are fewer heavy bulk reducing industries than there were, when
factories were built close to the sources of raw materials. As these resources ran out, factories
were relocated close to good transport links. With increased competition from abroad and with
the increased costs of production in the UK, many of those factories went into decline.

Some businesses are lucky in that they do not need to locate near their raw materials or their
customers. These businesses are called Footloose as they are free to locate anywhere
because transport costs are not very important.

A good example of a footloose industry is the electronic components industry. The transport
costs of materials to make circuit boards for computers are cheap as is the transport costs of the
finished products. For these industries there are other important factors to consider. Land on the
edge of cities is often cheaper than in the centre and out of town locations gives easy access to
workers.

Footloose industries locate in pleasant environments near good transport routes. An example of a
footloose industry would be a hi-tech industry such as computing. Footloose industries have to
locate close to research centres like universities. Developments in the hi-tech industry happen so
fasl that companies need to stay up to date to survive. Footloose industries are usually non-
polluting and can locate close to residential areas.
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Science Parks are located on the edge of cities in Greenfield locations. Many of the businesses
located in science parks are connected with information, hightechnology, and electronic
industries. Science parks have direct links with universities for research. They have attractive
layouts with grassy areas, ornamental gardens, ponds etc. Examples include Cambridge
Science Park, Silicon Glen in Scotland and the M4 corridor.

The availability of a workforce with appropriate skills is another important consideration when
deciding where to locate.

A business needing a highly skilled workforce needs to be in an area linked to the industry, or one
with local training facilities. A business looking for mainly unskilled, cheap labour looks for an area
with a high population.

Some industries rely on particular skills and certain areas develop a reputation for specialist skills.
A recent example of this has been the groMh of hitech industries around Cambridge, partly based
on the skills and research facilities available at Cambridge University.

Wages tend to be higher in certain parts of the country where the cost of living is high - for
example in London and the south east of England. Businesses that want to keep labour costs
low will tend to go to areas where wages are generally lower or where there are large numbers
of unemployed people willing to take lower paid work ratherthan live on benefits. This is one
reason why a number of call centres have been established in the north east of England. As that
area has higher levels of unemployment that the rest of the country.

Many foreign businesses decide to locate in the UK and employ British workers. ln areas of high
unemployment there is a good supply of workers. Workers in the UK may also have the skills
needed.

The cost of employing labour in the UK may also be low compared to other countries. Also, the
taxes on employing workers in the UK are low by international standards. For example, in
Germany employers have to pay much higher taxes.

However, some businesses may decide to relocate outside the UK as wages for low skilled
jobs may be cheaper in less developed countries.

Consideration for labour is only relevant for large businesses or when high skill labour is
needed. For small businesses (which represent most of the business activity in the UK) who
employ only a few people the availability of labour is not a major concern.
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EE Creates 260 Nely Jobs at Darlington and Tynaside Call Centres

Mobile phone company EE is creating 260 new
jobs at North Tyneside and Darlington call
centres.

The company already employs more than 300
staff at the two customer service centres, which
opened in 2013.

Chief executive l\rarc Allera said the move was
part of plans to base all its call centre workers in
the UK.

He said: There's still more we want to achieve to fully onshore all customer service roles
and provide the best possible experience for our customers."

The jobs will be shared equally between the two sites at Cobalt Business Park near North
Shields and Darlington's Yarm Road lndustrial Estate.

Source: www.bbc.co.uk

'1. Why has EE decided to base its call centres in the UK?

2 Why have they located to North Tyneside and Darlington?

The Production of Dyson Products.

When Dyson first started it made its products in
the UK. However, in 2002, the business
transferred vacuum cleaner production
to Malaysia. Most of the suppliers of its
components were located in the Far East.
Dyson is a global brand with a high number of
customers in New Zealand, Australia and
Japan.

ln 2003 washing machine production was also
moved to l\4alaysia. Production costs in Malaysia are 30%
savings made on production allowed for more money to be spent on res€
development into improving the product and developing new products.

Dyson has another manufacturing plant in Singapore.

Dyson has received criticism from some people for moving production abroad.

1. Explain the reasons why Dyson moved production to Malaysia andSingapore.

2 How have consumers benefited from this?

E

E

on research and
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The amount and cost of land will atfect the choice of location of the business.

Premises costs tend to be higher in the south east of England than elsewhere. Around the
country retail premises will cost more in city centres or major shopping centres. Costs will be
lower in outlying shopping areas around a town or city.

The cost of factories or warehouse premises will be affected by how close the premises are to
major motoMay and rail networks. Business rates for the location are also an important factor.

Rank the following retail locations from the most expensive (1) to the cheapest (6).

. Main road of a small village in the countryside

. Oxford Street, London

. Corner shop in a residentialarea

. The Bullring, Birmingham

. Out of town retail park 2 miles off the M4

. lndustrial park on the outskirts of Manchester

Explain the reasons for your choices.

The UK has become a popular choice for overseas companies wanting to set up in Europe.
l\y'anufacturers may iocate in GREENFIELO sites These are specially developed on rural land,
and have a good supporting infrastructure. One of the reasons for choosing to locate on a
greenfield site is that the cost of the land may be low. Building businesses on greenfield site are
generally not liked by environmentalists.

A greenfield site is an area of rural land where businesses have not previously built.
Buying land in a town or city which has already been built on is called a BROWNFIELD site.
Brownfields sites include disused or derelict land, these are more available in the North or in the
midlands (often where old manufacturing businesses have closed down)

These tend to be more expensive than greenfield sites as the land may need to be cleared. lt is
also much cheaper to build a factory from scratch than to buy an existing factory and try to convert
it.

A very profitable business which reprocesses hazardous chemicals wants to locate in a run-
down induslrial area outside a large town.

What arguments for and against the development might be put to a planning meeting at the
local council?

When deciding on the location the business should also consider:

. Should it be rented or purchased?

' How long will the site be needed for?
. What is the level of rates payable to the local council?
. ls there room forexpansion?
. How much building work is needed?
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All businesses need good sources of energy and water, efficient drainage and waste disposal and
good transportation. Generally, in a developed country such as the UK energy, water and waste
services are very good and can be supplied to most parts of the counlry.

lvlany manufacturing businesses need good transport facilities in order to obtain materials and
components and to move the finished goods to the customer. This includes motorways, airports,
seaports and rail networks. Being close to airports and seaports is important if the business
imports materials and/or exports products.

Good transport facilities are important to retail business for numerous reasons; it is importanl
that goods can be delivered to customers over long distances, and also vitalto allow easy
access to the store both for customers and employees. This is often an issue in older town
centres that were not designed wilh modern transport needs in mind. The
pedestrianisation of town centres has improved areas for customers, but has made making
deliveries more difficult.

Out of town shopping facilities have been developed close to roads to the benefit of both suppliers
and customers with their own transport, or within easy access of public transport. The success of
out-oflown shopping centres has been at the expense of town centre traders.

Many businesses have moved away from town centres and cities to less urban locations, near to
motorways, to avoid traffic congestion. l\.4ajor airports have also attracted businesses that have
close connections with other countries.

The M4 corridor is the area adjacent to the lvl4 l\.4otorway. lts eastern end in particular is home to
a large number of businesses, particularly in Berkshire, Swindon and the Thames Valley. For this
reason this part of the l\.44 Corridor is somelimes described as the UK 's Silicon Valley.
Companies which have offices along the l\.44 include Vodafone, Cisco, Microsoft, Hewlett Packard
and N.4Cl.

As with many motorways, companies are attracted to the location because of the ease of
travel, this is true of the M4 especially because of the motorway's proximity to London and
Heathrow airport which is also alongside the M4.

Good telecommunications and postal services can also be important, and in the digital age
where many businesses communicate via the internet and through handheld devices, intemet
coverage (Wi-fi) can be essential.

Businesses create.iobs and prosperity, therefore attracting business to an area can be very
important to a local council or a government.

ln the UK businesses may receive help from a local council, the Scottish and Welsh
Governments and the UK Government. This was also available from the European Union,
however, this will now stop as a result of the UK deciding to leave the EU.

Help may be in the form of grants to businesses that set up in areas of high unemployment or in
run down urban areas. Businesses can also receive help through tax breaks or loans with low or
no interest to pay.
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There is also help available in the form of advice and training for new slaff.

Examples of government assistance:

. www.qov.uUbusiness-finance-support-finder offers finance and suppo( for businesses
including grants, finance and loans, business support e.g. mentoring, consultancy and
funding for small and medium-sized businesses and start-ups.

. https://businesswales.qov.wales/
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The Start Up Loans Company was established in 2012. They are a government-backed
scheme, supported by the British Business Bank and designed to support businesses who
struggle to access other forms offinance.

Linkages - Some businesses depend on others or may need to be in close personal contact
with similar types of businesses. This can be seen in the City of London where there is a
tremendous concentration offinancial businesses close to the Bank of England and the stock
exchange.

Historical Factors . Sometimes the reasons for an industry developing in a particular area
in the past have disappeared and yet the industry remains there because it is well
established and the costs of moving are high. An example of this is the Cumbria pencil
industry, which was originally based on local supplies of graphite, but which now uses
synthetic materials.

Climate - Some businesses can only locate in certain areas. Examples include agriculture
- there are no banana farms in the UK and very few vineyards.

Near to Competitors - Sometimes being near to your competitors is a good idea as there
will be lots of local skilled labour and your customers know where to come. Your suppliers
will also want to locate near to you so they can reduce transport costs and delays.

Personal Reasons - Owners and managers may want somewhere nice to work and live so
they might locate their business in an area they like or they have connectionsto.
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For each of the businesses below name 2 location factors lhat will be the most important.

. Localchip shop

. Pine fumiture manufacturer

. Pharmaceutical research and development

. Online goods warehouse
' Nightclub. Orange farmer
. Solicitors
. Retired couple setting up a tea room
. Bank callcentre

For each of the following businesses choose the best location from the information given.

. Granton - is a prosperous city with 300 000 residents. lt has a busy city centre with a
modern shopping complex. lt has good links by road and rail has an international airport
nearby. lt has a university.. Beachtown * is a popular holiday destination and situated on the coast. lt has a population
of 20 000 residents, in the summer this increases to 40 000. lt is not close to the main roads
but has a train station.. New Poynton - is a smalltown that has grown quickly in recent years, it now has 60 000
residents and is very popular with affluent families. lt has a small town centre but a few out of
town retail parks. lt is close to a national park.

' Ferryport - is an old industrial town located near to a large port which services ships
exporting and impo(ing products from all around the wodd. lt has many brownfield sites
which used to be used by steel manufacturers. The population is 100 000, it has high
unemployment. lt has excellent road and raillinks.

1. A multinational steel company to open a new plant employing 3 000 localworkers.

2 An electronic component engineering company to open a new factory that will
manufacture circuit boards to be used in hand held mobiledevises.

3 A hotel chain to open a large hotel aimed at tourists and business people.

4 An insurance firm to open a call centre to deal with customer queries and complaints
from all over the UK.

5 A craft shop selling high quality and high end locally produced crafts.
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Siting factors need to be considered after a business knows what location they will select. For
example a multinational manufacturer has decided to locate along the M4 corridor, it will now look
for a specific site, an entrepreneur from Liverpool who wants to open a hairdressers will look for
suitable property in the Liverpool area or a large retail chain wishes to open a new store in
London, will look at the possible sites in and around London. The following factors will need to be
considered.

. Cost of site

. Size of site

. Footfall

. Accessibility

. Closeness to competitors

. Personal reasons

Even within a defined location there will be a range of premises or land available for businesses
that will have different costs. For a retailer a store in the city centre will be more expens ve than a
store in a less busy part of town. Also commercial property prices will differ within an area, with
more popular areas having higher prices. Office prernises that are on the ground floor will be more
expensive than above street level.

The quality of the building or the facilities on offer will also affect the price.

For a new business it is likely that there will be a small budget for siting the business, in this
case the business may not be sited in the best area, or the first choice of the entrepreneur, the
premises chosen will be one they can afford. l\,4any new businesses do not buy the premises,
they rent in order keep their costs low.

lmagine you are a new entrepreneur looking to buy a property for you new business in your local
area. Decide on what retail business you wish to start. Using the intemet look at estate agents
and other sites that are advertising property for sale.

Read the details on the property and make a list of 4 possible properties.

1. ls there much difference in price?

2 What factors determine the price of the properties you looked at?

3 Choose one property and explain the reasons for your choice.

The size of the site will affect the cost of the site, with larger properties or pieces of land being
more expensive. lt is important that a business selects a site that is not too small and not too big,
this will depend on the nature of the business and the possible future plans, such as expansion
plans.

109



GCSE Business' Business

ln addition to using a premises that is the right size, it must also be suitable to the business, for
example a clothes retailer will want a large front window to show the products and someone
wanting to open a new caf6 will want a kitchen and toilets for the customers. lf these are not
present then it will cost money to make the premises suitable.

Footfall is the amount of customers that enter the business. Businesses such as retailers, pubs,
cafes, restaurants, hairdressers, beauty parlours etc. need a good amount of customers in order to
make the business successful. Where a business sites its premises can affect the footfall it gets.
Siting in busy high streets, shopping centres and entertainment hubs tend to get a high level of
footfall, whereas side streets or suburban areas tend to get much lower levels of footfall.

This is one reason why premises sited in busy areas are more expensive. By having a high
level of passing trade a business is more like y to attract new customers and customers
making an impulsive purchase.

The footfall a business gets is often measured by businesses to see if the site is the most
effective in attracting customers.

Retailers suffered a steep drop in footfall during the first trading weekend of 2017 as
poor weather and Bank Holiday trading hours drove shoppers online.

New Yeads Eve proved to be the stronger of the two days for retailers. Shopper numbers on
high streets fell 2.4% year-on-year, compared with a 5.1% decline on December 31 2015. But
New Year's Day proved to be a washout for retailers, with shopping centres in particular
suffering from a slump in shoppertraffic.

Footfall at malls across the UK plummeted 49.5% on January 1 compared with the same day
last year. lt marks a stark contrast to New Yeais Day last year, when footfall at shopping
centres iumped 9.8olo.

Shopper numbers at retail parks tumbled 19.1%, while high streets proved to be the best-
performing locations on New Yeais Day, despite sufiering a 12.7% slip in footfall.

As bricks-and-mortar retailers struggled to attract shoppers, online sales climbed 6.8%
during the weekend, with New Year's Eve registering an 18.2% uplift compared with
December 31 2015.

The ease and comforl of online shopping proved too enticing for shoppers keen to snap up
further discounts in the sales, rather than bracing the cold outdoors. Shopping centres in
particular have a challenge ahead in 2017.

Having experienced a decline in footfall during 2016, these destinations need to up their game
in order to provide additional reasons to draw shoppers away from their devices with an offer
going beyond retail.

Source. https://wwvr'.retail-week.com/analvsis/data/retail-footfall-s!umDS-over-new-vears-
wee kend/701 7229.a rticle
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ln addition to having good infrastructure specific sites also need good accessibility, in other
wods, easy to get in and out of. For most businesses accessibility is very important. For
retailers the customers must be able to get there by car or public transport, park their car, walk
to the store, get into the store or find it if they are new customers. The business will also receive
deliveries from suppliers, although this importance will depend on the size and frequency of the
products being delivered.

For a business that manufactures products, accessibility is also imporlant as many component
parts might be delivered and then distributed to customers. An area to unload and dispatch will
be needed, if these are carried out throughout the working day then the access to main roads
is essential to get the products in and out on time.

The groMh of out of town retail parks have depended on good accessibility with large car parks,
that are often free, bus stops nearby and large entrances to allow for many customers to visit the
business in peak hours and avoid overcrowding. Also they tend to have excellent delivery
facilities well away from the customer areas (not always true with town centre locations).

For some businesses it makes sense to be close to competitors as this can increase footfall. A

city centre location will inevitably lead to competitors being close to each other, buteach
business will be confident that they can compete by having better products, lower prices or more
effective promolions. A good example of this is mobile phone shops, many are next door to each
other or a close distance away, so when a consumer is looking for a new phone they can visit all
at lhe same time. lf one mobile phone shop decided to locate in another area of the town it is
highly likely that the consumer will not bother to visit their store as it is too far away and they
already have 3 or 4 stores to choosefrom.

Many small businesses will choose a site for personal reasons, they may live in lhe area, have
connections to the area orjust like the "feel" of the area. Their motivation may be to serve
customers that they personally know and enjoy the social side of running the business.

Businesses are so varied that it is impossible to give a definitive list of the most important location
and site factors for all businesses. The choice of where to locate and site a business will depend
on so many different factors; what will be a good location and site for one business will be a poor
location and site for another. Even businesses in the same market will have different
requiremenls; a start-up fast food restaurant will have limited funds and may choose premises
with cheap rent and low footfall, whereas a large multinational fast food restaurant will be able to
choose the site with the highest footfall, which is in the centre of a large city. Some businesses
won't need any footfall at all as their customers are online or on the telephone.
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Coed Deri Shopping Centre is on the outskirts of a town. lt is situated at the edge of an
industrial estate which has offices and workshops. Close by is a leisure centre and within half
a mile is a traditional local shopping area.

Below is map of the Coed Deri Shopping Centre.

Ceri's Sofa Store was recently set up by Ceri Thomas who had been made redundant by a
town centre department store.

1. Outline two of the benefits Ceri might gain from siting her business in the Coed Deri
Shopping Centre.

Explain one possible disadvantage Ceri's Sofa Store may face in this site.

Suggest and explain an altemative site for Ceri's business.

Jane Roberts is planning to set up a shoe shop in a small market town. She would like to
concentrate on selling more expensive shoes to attract better off customers with high paid jobs.

Jane is considering a number of different sites to set up her shop.

Outline the main factors Jane should take into account when deciding on the best site to
locate her business within the town.
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